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The following table shows the number of newspapers printed as shown inside the brackets
and the number of newspapers distributed at different cities on a particular date. Answer
the questions 1 to 5 :

Cityv-wise Distribution of Newspaper

Newspaper | Newspaper | Newspaper | Newspaper | Newspaper
—» A B C D
Cit}-‘# (2000) (2000) (1000) (1000)
Delhi 1000 750 320 250
Lucknow 500 250 250 175
Varanasi 200 150 165 155
Jaipur 200 350 135 160

Sub questions

Question Number : 1 Question Id : 5362283775 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which city the distribution of paper 1s mimimum?

(1) Jaipur (2) Lucknow
(3) Delh1 (4) Varanasi
Options :

53622814701. 1
53622814702. 2
53622814703. 3
53622814704. 4

Question Number : 2 Question Id : 5362283776 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of distributed newspapers compared to printed newspapers?

(1) 83.5% () 84.0%
(3) 82.0% (4) B82.5%
Options :

53622814705. 1
53622814706. 2
53622814707. 3
53622814708. 4

Question Number : 3 Question Id : 5362283777 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the percentage of distribution of newspaper C in all the cities as compared to total
number of newspapers distributed?

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622814709. 1
53622814710. 2
53622814711.3
53622814712. 4

Question Number : 4 Question Id : 5362283778 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of distribution of Newspaper A to newspaper B?

(1) 16:15 (2 7:5
(3) 19: 15 4y 17:15
Options :

53622814713. 1
53622814714. 2
53622814715.3
53622814716. 4

Question Number : 5 Question Id : 5362283779 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total distributed paper to total newspaper printed?

(1) Hh:6 (2) 51:60
(3) 167 : 200 (4y 52:61
Options :

53622814717. 1
53622814718.2
53622814719. 3
53622814720. 4

Question Id : 5362283774 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362283775 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814701. 1
53622814702. 2
53622814703. 3
53622814704. 4

Question Number : 2 Question Id : 5362283776 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 18 the percentage of distributed newspapers compared to printed newspapers?
(1) 83.5% (2) 84.0%

(3) 82.0% (4) 82.5%
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(1) 83.5% (2) 84.0%
(3) 82.0% (4) B82.5%
Options :

53622814705. 1
53622814706. 2
53622814707. 3
53622814708. 4



Question Number : 3 Question Id : 5362283777 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oot sz 4 faafm & 78 gamEweEn Fi ufam f w9 g f 9o 8 gemEme ¢ F faafa #irong ot

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622814709. 1
53622814710. 2
53622814711. 3
53622814712. 4

Question Number : 4 Question Id : 5362283778 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) 16:15 2y T7:56
(3) 19:15 (4) 17:15
Options :

53622814713. 1
53622814714. 2
53622814715.3
53622814716. 4

Question Number : 5 Question Id : 5362283779 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 2:6 (2) 51:60
(3) 167 : 200 (4 52:61
Options :

53622814717. 1

53622814718. 2

53622814719. 3

53622814720. 4

Sub-Section Number : 2
Sub-Section Id : 536228150
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 5362283780 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If teaching 1s viewed as a continuum. which of the following modality, involves active ‘give’
and ‘take’ between the teacher and learner?

(1) Training (2) Conditioning
(3) Instruction (4) Indoctrination
Options :

53622814721. 1
53622814722.2
53622814723. 3
53622814724. 4

Question Number : 6 Question Id : 5362283780 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814721. 1
53622814722. 2
53622814723. 3
53622814724. 4

Question Number : 7 Question Id : 5362283781 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the correct sequence from lower to higher. for indicating learning outcomes related

to affective domain?

(A) Receiving

(B) Valuing

(C) Responding
(D) Organization

(E) Characterization

Choose the correct answer from the options given below :

(1) (A). (B). (C}), (D) and (E) (2) (A), (C). (B). (D) and (E)
(3) (C). (D). (E), (A) and (B) (4) (B). (C). (A). (D) and (E)
Options :

536228147251
53622814726. 2
53622814727. 3
53622814728. 4

Question Number : 7 Question Id : 5362283781 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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3)  (C). (D). (E). (A) =7 (B) (4) (B). (C). (A). (D) 377 (E)
Options :

53622814725. 1
53622814726. 2
53622814727.3
53622814728. 4

Question Number : 8 Question Id : 5362283782 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Ability of an individual or group implies the components of knowledge, skill

and experience.

Statement II : Willingness of an individual or group implies the components of confidence,

commitment and motivation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement 11 is correct
Options :

53622814729. 1
53622814730. 2
53622814731.3
53622814732. 4

Question Number : 8 Question Id : 5362283782 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622814729. 1
53622814730. 2
53622814731.3
53622814732. 4

Question Number : 9 Question Id : 5362283783 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT : List I provides the basic management functions to be performed by
a teacher while the List I gives thelr description.

List I Last IT
(A) Planning (. It involves feedback of results and
follow up to compare
accomplishments.
(B) Organizing (I It 1nvolves engagement 1n task

relevant activities.

(C) Motivating (IIT) It involves bringing together resources
and people.
(D) Controlling (IV) It involves setting goals and objectives.

Choose the correct answer from the options given below :

(1)  (A)-1V), (B)-(IID). (C)-(ID), (D)-(I)
(2) (A)-(D). (B)-(II), (C)-(11I). (D)-(IV)
(3)  (A)-D. (B)-D),. (C)-(IV). (D)-(I1T)
(4)  (A)-(ID. (B)-(IV). (C)-(D). (D)-(II)

Options :

53622814733. 1
53622814734. 2
53622814735.3
53622814736. 4

Question Number : 9 Question Id : 5362283783 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  (A)-IV). (B)-(III). (C)-(IL). (D)-(I)
(2) (A)-(D). (B)-(IT), (C)-(I1I). (D)-(IV)
(3) (A)-(IT). (B)-@). (C)-(IV). (D)-(III)
(4) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(IL)

Options :

53622814733. 1

53622814734.2

53622814735.3
53622814736. 4

Question Number : 10 Question Id : 5362283784 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :
Assertion (A4) :  The use of ICT has a great potential for optimising learning outcomes.
Reason (R) : ICT promotes scope for variety. flexibility and attractiveness.

In the hight of the above statements. choose the correct answer from the options given below :

(1)

(2)

(3)

4)

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 18 true but (R) 1s false

(A) 1s false but (R) 1s true

53622814737. 1
53622814738. 2
53622814739.3
53622814740. 4

Question Number : 10 Question Id : 5362283784 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814737. 1
53622814738.2
53622814739. 3
53622814740. 4

Question Number : 11 Question Id : 5362283785 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling procedures from the following :

(A) Simple random sampling
(B) Quota sampling

(C) Cluster sampling

(D) Snowball sampling

(E) Dimensional sampling

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B). (C) and (D) only
(3) (B). (D) and (E) only {4y (C). (D) and (E) only
Options :

53622814741. 1



53622814742.2
53622814743.3
53622814744. 4

Question Number : 11 Question Id : 5362283785 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T=elEd 5 8 JE9=ga] 9 AT WA =Ed TRt Sl U= e
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(1) === (A), (B) # (C) (2) == (B). (C) 37 (D)

(3) &= (B). (D) ¥7 (E) (4) F= (C). (D) #7 (E)
Options :

53622814741. 1
53622814742.2
53622814743.3
53622814744. 4

Question Number : 12 Question Id : 5362283786 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A college principal conducts an ethnographic probe into the problems faced by tribal
students. Which method of sampling will be most appropriate?

(1) Random samplhing (2) Stratified sampling
(3) Cluster sampling (4) Systematic samphng
Options :

53622814745. 1
53622814746. 2
53622814747.3
53622814748. 4

Question Number : 12 Question Id : 5362283786 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U WElEmed F U gET SHAWE [ gen amEn S T GEErE 0 JAiaE A" a0 |
uta=e= 1 = = &ty Jaias IugE w2 e

(1)  =ga® Jideaad (2) TR T
(3) = U= (4) =HEfHE gEaETE
Options :

53622814745. 1
53622814746. 2
53622814747. 3
53622814748. 4

Question Number : 13 Question Id : 5362283787 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Fundamental research is directed at exploring the applicability of truths and

principles already established.

Statement IT: Action research aims at ameliorating the ongoing conditions and practices.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II is correct
Options :

53622814749. 1
53622814750. 2
53622814751. 3
53622814752. 4

Question Number : 13 Question Id : 5362283787 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :
53622814749. 1
53622814750. 2
53622814751. 3
53622814752. 4

Question Number : 14 Question Id : 5362283788 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s Iabelled as
Reason (R) :

Assertion (A) : Research ethics and itz observance 1s necessary in the interest of
credibility and quality of research.

Reason (R) : The policy making bodies have to be accountable for pursuing research
with an eve on promoting excellence.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1z NOT the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1= true



Options :

53622814753. 1
53622814754.2
53622814755. 3
53622814756. 4

Question Number : 14 Question Id : 5362283788 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622814753 1
53622814754.2
53622814755.3
53622814756. 4

Question Number : 15 Question Id : 5362283789 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher intends to find out the differences in motivational outlook of first degree level
students in terms of their belongingness to rural/urban areas and the educational status of
parents. What will be the dependent variable in this study?

(1) Belongingness to rural/urban areas (2) First degree level
(3) Educational status of parents (4) Motivational outlook
Options :
53622814757. 1
53622814758.2
53622814759. 3
53622814760. 4

Question Number : 15 Question Id : 5362283789 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

53622814757. 1
53622814758.2
53622814759. 3
53622814760. 4

Question Number : 16 Question Id : 5362283790 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication 1s indicative of one's

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622814761. 1
53622814762. 2
53622814763. 3
53622814764. 4

Question Number : 16 Question Id : 5362283790 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication is indicative of one’s

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622814761. 1
53622814762.2
53622814763.3
53622814764. 4

Question Number : 17 Question Id : 5362283791 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the following elements 1n the latter part of the

communication process after decoding :

(A) Environment
(B) Feedback
(C) Context

(D) Interference

Choose the correct answer from the options given below :

(1) (A (B).(C). (D) 2y (B). (C). (D). (A)
(3)  (C). (D). A). (B (4)  (B). (A). (C). (D)
Options :

53622814765. 1
53622814766. 2
53622814767.3
53622814768. 4

Question Number : 17 Question Id : 5362283791 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(A)  =FrarEEm
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(C) ==H
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(1) (A, (B). (C). (D) (2) (B). (C). (D). (A)

(3)  (©. D). A).(B) (4) (B). (A). (). (D)
Options :

53622814765. 1
53622814766. 2
53622814767.3
53622814768. 4

Question Number : 18 Question Id : 5362283792 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT :

Last T Last IT
(Tvpe of media) (Example)
(A) Synchronous media (I) Application of multi-media
(B) Asynchronous media (II) Interactive multi-media
(C) Rich media (III) E-mail
(D) Hyper media (IV) Telephone

Choose the correct answer from the options given below :

(1)  (A-D. (B)-ID), (C)-(11D). (D)-(IV)
(2)  (A)-(IV), (B)-(III). (C)-(ID). (D)-(I)
(3)  (AID. (B)-(IV). (C)-(I). (D)-(I1I)
(4 (A)-(ID. (B)-(D). (C)-AV), (D)-(ID)

Options :

53622814769. 1
53622814770. 2
53622814771. 3
53622814772. 4

Question Number : 18 Question Id : 5362283792 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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oY (A)-(D. (B)-(ID), (C)-(III). (D)-(IV)
(2) (A)-(IV), (B)-(I10). (C)-(II), (D)-(D)
(3) (A)-(II). (B)-(IV). (C)-(I). (D)-(1II)

(4) (A)-(IIT). (B)-(I). (C)-(IV). (D)-(II)
Options :
53622814769. 1
53622814770. 2
53622814771. 3
53622814772. 4

Question Number : 19 Question Id : 5362283793 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Beason (R) :

Assertion (4) :  Effective communicators alien appearance with body language and tone.

Reason (R) : Such an alignment forms part of the art of persuasion.

In the light of the above statements, choose most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 18 NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
53622814773. 1
53622814774. 2
53622814775. 3
53622814776. 4

Question Number : 19 Question Id : 5362283793 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814773. 1
53622814774.2
53622814775. 3
53622814776. 4

Question Number : 20 Question Id : 5362283794 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are contributive to positive influence on teacher-student
communication?

(A) Making assumptions

(B) Limited interaction

(C) Fostering a sense of belongingness
(D)  Acknowledging participation

(E) Persuative attitude

Choose the most appropriate answer from the options given below :
(1)  (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only (4) (A). (D). (E) only

Options :
53622814777. 1



53622814778. 2
53622814779. 3
53622814780. 4

Question Number : 20 Question Id : 5362283794 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ASATTF Ty Joa F Tey § Aengd § O :H-0 Sneas UYE ° GrEE B4 20
(A) T HiEE
(B)  Hiima a1
(C)  T[Eeg il =1 "
(D) IS T

Hrm 22 = et § O o T g

(1) == (A), (B). (O) (2) = (B). (C). (D)

(3)  Fa= (C). (D). (B) (4) Fa9 (A). (D). (E)
Options :

53622814777. 1
53622814778. 2
53622814779. 3
53622814780. 4

Question Number : 21 Question Id : 5362283795 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A pipe normally fills a tank in 12 hours. but. due to a leak. 1t takes 8 hours more. If the tank

1s full, how many hours will the leak take to empty 1t?

(1) 12 (2) 22
(3) 30 (4) 33
Options :

53622814781. 1
53622814782. 2
53622814783. 3
53622814784. 4

Question Number : 21 Question Id : 5362283795 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF UIEY U % Rl ATAR U 12 92 H 9T 3A 7 | ueg forhs o a9 ° 39 w9 0 8 =92 wfuw e F

e ¥ W1 51 A1 fovhst 1 I9E W 90 Wiel 51 8 TR sy o Y

(1) 12 2 22
(3) 30 4y 33
Options :

53622814781. 1
53622814782.2
53622814783. 3
53622814784. 4

Question Number : 22 Question Id : 5362283796 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1= the remainder when 64 divides 16717

(1) 4 (2) b5
(3 6 4 7
Options :

53622814785. 1
53622814786. 2
53622814787.3
53622814788. 4

Question Number : 22 Question Id : 5362283796 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1671 =1 64 & Fwtsa = W g o9 a=m 7

1 4 2 b5
(3) i) (4 7
Options :

53622814785. 1
53622814786. 2
53622814787. 3
53622814788. 4

Question Number : 23 Question Id : 5362283797 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Two triangles are said to be congruent if their corresponding angles are

equal and corresponding sides are proportional.

Statement IT : Two triangles are said to be similar if theiwr corresponding angles and

corresponding sides are equal.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement IT 1= false

(4) Statement I 1s incorrect but Statement II 1s true
Options :
53622814789. 1
53622814790. 2
53622814791.3
53622814792. 4

Question Number : 23 Question Id : 5362283797 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4= 21 g fEm T

F9m ([): 31 s waimes Fee & I3 399 He 00 5 A S E5E 9E Sl =

FA (ID) : 31 BS 1 T Fa T 7 90 39 T w0 S 5 A w9 A

I FYET F AAF B AR FEe 8 H HE 3 g
(1)  =y= I ¥ 2 58 7 |

(2) w1 HR 2 7ed 2

(3) YA I5ca & fohg e 117w 2 |

(4) =y I 3w 2 g w1 oe 2 |

Options :

53622814789. 1
53622814790. 2
53622814791. 3
53622814792. 4



Question Number : 24 Question Id : 5362283798 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong number in the series :

7, 8. 18, 57. 228, 1165, 6996

(1) 1165 (2) 228
(3) a7 4y 18
Options :

53622814793. 1
53622814794. 2
53622814795. 3
53622814796. 4

Question Number : 24 Question Id : 5362283798 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

f=leiitad Sen—%9 | | Ted e w IE] S

7. 8. 18. b7, 228, 1165, 6996

(1) 1165 (2) 228
(3) 57 (4) 18
Options :

53622814793. 1
53622814794. 2
53622814795. 3
53622814796. 4

Question Number : 25 Question Id : 5362283799 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: When we perform an experiment, then the set S of all possible outcomes 1s

called the sample space.

Statement II : Any superset of a sample space 1s called an event.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

Both Statement I and Statement 11 are true
Both Statement I and Statement I1 are false
Statement I 1s correct but Statement IT 1z false

Statement I 1s incorrect but Statement IT is true

53622814797. 1
53622814798. 2
53622814799. 3
53622814800. 4

Question Number : 25 Question Id : 5362283799 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= g e faw e E

woA (I): =9 59 12 9907 Fd 7 91 5 59g 9o #1 gg=ed S uiden T0g Feed # |

Fo (ID) : Tt wiaeel = =1 12 sAfamg==a ‘sz Feear 2 |

IYAFT FAA T AR § ARG (Fed § ° wE I 9

(1)
2
(3)

4
Options :

Fy I 311 I 2 =991 2 |
Foa 1 3 I 21 7oA & |
Fu 1503 = Thg 9= 1170 7 |

FoF 1 557 = g F9F 117 2|

53622814797. 1
53622814798. 2
53622814799. 3
53622814800. 4

Question Number : 26 Question Id : 5362283800 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In terms of the relationship indicated below, which word will correctly pair to replace the
question mark?

©
v

Frown : Pain :: Smile : ;
(1) Joy (2} Sorrow

(3) Failure (4) Discomfiture
Options :

53622814801. 1
53622814802. 2
53622814803. 3
53622814804. 4

Question Number : 26 Question Id : 5362283800 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F= FET T HEY F ATER, BE-H 75 W e w9E W gafed ame

W
¥

I« IST o R

=

(1) = (2) 3™
@ v @ =T
Options :

53622814801. 1
53622814802. 2
53622814803. 3
53622814804. 4

Question Number : 27 Question Id : 5362283801 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Since the perception of hardness 1s not necessarily connected with its
colour, it can be said that all the perceptions seen conjoined but never
connected.

Reason (R) : Causal relationship 1s always contingent and probable because 1t 1s

derived from experience.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false

(4) (A) 18 false but (R) 1s true

Options :



53622814805. 1
53622814806. 2
53622814807. 3
53622814808. 4

Question Number : 27 Question Id : 5362283801 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 21 e feu o F T O wE o AT (A) S gE w9 (R) FaE T E

HTFIA (A) - <% WA 1 914 3EF 7§ ATETEE B H HEiUd A7 7 SHU T8 HE 9 2l 7
o @t sy =g e = 7 wieg H weiad 78 7 |

7% (R) : FE-FROSF HAY G99 SAHEHE S HENEG B 5 FEE 9w 9999 7 O w2
=
2

I HIAT F ATAE ° AR fedl 8§ Fal 3 9

(1) (A) 3 (R) 2F1 78 & w1 (R), (A) i = s 2 |
@ (@) s ®) I A E g R). ) F wE men T 2
(3)  (A)@A 2 wg (R) @& TAl 2|

@ (A TE T E T (R) 7 R

Options :

53622814805. 1
53622814806. 2
53622814807. 3
53622814808. 4

Question Number : 28 Question Id : 5362283802 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions :

All philosophers are fallible.

Hegel 1s not fallible.

In the classical square of opposition., which one of the following is the correct option for this?
(1) Contrary (2) Sub contrary

(3) Contradictory (4) Subaltern

Options :

53622814809. 1
53622814810. 2
53622814811.3



53622814812. 4

Question Number : 28 Question Id : 5362283802 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tl =TT S
Eod U T e e B e

a7 % FeAiEeRl 9 9 39 o1 (efeiag § 9 w9 fawey WE R Y

(1)  faomd= (2)  IT-TEATEEE
(3) =T (4) T (GEaee)

Options :

53622814809. 1
53622814810. 2
53622814811.3
53622814812. 4

Question Number : 29 Question Id : 5362283803 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions :
Some animals are fierce.
Some animals are not fierce.

In the classical square of opposition which one of the following 1s the correct option?

(1) Subaltern (2) Contradictory
(3) Contrary (4) Bub-contrary
Options :

53622814813. 1
53622814814.2
53622814815. 3
53622814816. 4

Question Number : 29 Question Id : 5362283803 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fairy = Ferieeh] a0 4 T o Aetenad § 3 ®E-m faEed 98 R

(L) = (TEeTee ) (@) =T
(3)  Tawfamd= &) TI-frraeE
Options :

53622814813. 1
53622814814. 2
53622814815.3
53622814816. 4

Question Number : 30 Question Id : 5362283804 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List T with List IT :

List I Last IT
(Concept) (Philosopher)
(A) Causality 1s aprior: {I) Anstotle
(B) Causality 1s synthetic (II) Hegel
(C) Causality 1= dialectical (IIT) Hume
(D) Causality 1s materal (IVy Kant

Choose the correct answer from the options given below :

1 (A-ID. (B)-(D. (CO)-IV). (D)-(IID
(2)  (A)-IV). (B)IIL). (C)-(aD). (D)-(D)
(3)  (A)-D, B)-IV), (C)-(I1I), (D)-(II)
4 (A)-ID. (B)-(D). (C)-(II). (D)-(IV)

Options :

53622814817. 1
53622814818. 2
53622814819. 3
53622814820. 4

Question Number : 30 Question Id : 5362283804 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 F1 gI-I1 & gl FHifw

I I
(wreremm) (=rtfF)
(A) HRITET TIHHEE F | O =7
(B) U DI | an #Fe
(C) “FEOTAT Grgied 7 | (III) =™
(D) TFEET G 7 | av) ==
Hr= 20 U e T wE I 9

(1) (A)-(IL). (B)-(T). (C)-(IV). (D)-(III)
(2) (A)-(IV), (B)-(III), (C)-(II). (D)~(T)
(3) (A)-(D). (B)-(IV). (C)-(I1II). (D)-(II)
(4) (A)-(IID). (B)-(D). (C)-(IT). (D)-(IV)

Options :

53622814817. 1
53622814818. 2
53622814819. 3
53622814820. 4

Question Number : 31 Question Id : 5362283805 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CDMA stands for

(1) Code Division Multiplexed Access
(2) Code Division Multiple Access

(3) Code Division Mobile Access

(4) Code Division Mobile Adapter
Options :

53622814821. 1

53622814822.2

53622814823.3
53622814824. 4

Question Number : 31 Question Id : 5362283805 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Higtems (CDMA) 71 e 7
(1) == Tedr99 Aedieises ToHE
(2)  wi= TsdieH A=t uwEg

(3) = f=d= geEa TaEy
(4} :f-'[:- E:E_r"]ﬁ R El‘ HqlEe EJEL_"_.]



Options :

53622814821. 1
53622814822. 2
53622814823. 3
53622814824. 4

Question Number : 32 Question Id : 5362283806 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In display technology. CRT stands for

(1) Cathode Ray Transmission
(2) Computer Ray Transmission
(3) Cathode Ray Tube

(4) Cathode Ray Transducer

Options :

53622814825. 1
53622814826. 2
53622814827. 3
53622814828. 4

Question Number : 32 Question Id : 5362283806 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[t

e 2aATeTA] 0, 1 AW 21 &7 a0 B

(1) s T gt (2) FA T ZEmEEE
(3) FAsizm (4) Furs T ZHETE
Options :

536228148251
53622814826. 2
53622814827. 3
53622814828. 4

Question Number : 33 Question Id : 5362283807 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : External hard disk i1s a primary memory.
Statement II : In general. pen drives have more storage capacity than external hard disks.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I is incorrect but Statement II 1s true
Options :

53622814829. 1

53622814830. 2

53622814831. 3

53622814832. 4

Question Number : 33 Question Id : 5362283807 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F (@) : o S {5 v e A6 R

w9 (ID) : TG T Si5d 1 T2 91 e BT 155 ° 309 Bl 7

SYIFA FUAT F AAE § (=R e 8 ° wel I 9
(1) =9 L= 39 &7 7 |

(2 A I [EE 7o 7 |

(3)  wu I8 7 T o I17Ted 2 |

(4) e 1 55en 7 g =+ 1571 2 |
Options :
53622814829. 1
53622814830. 2
53622814831. 3
53622814832. 4

Question Number : 34 Question Id : 5362283808 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT : List IT contains examples of the items Listed in List L.

ListI List IT
(A) Web 2.0 Applications {I). Windows 8, 1-0S
(B) Search Engines (IT) C++, Java
(C) BSystem Softwares (ITII) Blogs. Twitter
(D) High level languages (IV) Google. Yahoo

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(III). (C)-(D). (D)-(ID)
(2)  (A)-ID). (B)-AV). (O)-(D). (D)-(II)
(3) (A)-(D). (B)-(IID). (C)-(IV). (D)-(II)

@ (A)-(IV). (B)-(I). (C)-(I1I), (D)-(II)

Options :

53622814833. 1
53622814834.2
53622814835. 3
53622814836. 4

Question Number : 34 Question Id : 5362283808 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g=i-1 =t g=hi-11 9 gafem it -

=11 TH-11
(73) (F3TETm )
(A) =7 2.0 TR @ fa=1 8, sme-=11 vm
B) T3 AD) C++, ==
(C) ToP=d AT (IIL) =7, feger
(D) FE FEH AR @V) T, 4

Hra T2 ™ faebed | © wE I g

(1) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(2) (A)-(III), (B)-(IV), (C)-(I), (D)-(IT)
(3) (A)-(D. (B)-(III). (C)-(IV), (D)-(II)

(4) (A)-(IV). (B)-(I). (C)-(I1I), (D)-(IT)
Options :
53622814833. 1
53622814834. 2
53622814835.3
53622814836. 4

Question Number : 35 Question Id : 5362283809 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true?

(A) An algorithm may produce no output

(B)  An algorithm expressed in a programming language 1s called a computer program.
(C)  An algorithm is expressed in a graphical form known as flowchart

(D)  An algorithm can have infinite sequence of instructions.

Choose the correct answer from the options given below :

(1) {A) and (B) only (2) (A). (B) and (D) only
(3) (C) and (D) only (4) (B) and (C) only
Options :

53622814837. 1
53622814838. 2
53622814839. 3
53622814840. 4



Question Number : 35 Question Id : 5362283809 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FeffEa d g F g T T3 27

(A) T USIEA HE AT TE 3 Al F |

(B)  TIWI TS H STHSEsA TR e WA A A F
(C) UTF F =0 § ATq=0Fd U2 F 5 =00 FaE A4l F |

(D) U UeIEH H A9 T A H 7 G # |

qhh_::'rl—;:f Pﬁﬂiﬁq. n Hﬂﬁwﬁh—q .

) = (A) 37 (B) @) T (A), (B) @it (D)

(3) A (C) R (D) (4) Fa= (B) 3 (C)
Options :

53622814837. 1
53622814838. 2
53622814839. 3
53622814840. 4

Question Number : 36 Question Id : 5362283810 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Exposure to excessive noise pollution can cause
(A) Hearing impairment
(B) Insomnia
(C) Rise 1n blood pressure
(D)  Respiratory disease
(E) Reduced work efficiency

Choose the most appropriate answer from the options given below :

(1) (A). (C). (E) only (2) (A, (C). (D) only
(3) (B). (C) and (E) only (4) (A). (B). (C) and (E) only
Options :

53622814841. 1
53622814842.2
53622814843. 3
53622814844. 4

Question Number : 36 Question Id : 5362283810 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



iy

AT S uga § SdferEd 4 %A W FE0 2 TG 2
(A  FFm =

(B)  #AFE

(C) 7= 3fg

D)  TEET "= T

(E)  =heE&mar 49 7 S

4= 72 ™ G 0 8 78 I =TT

(1)  =a= (A). (C) 51 (E) (2) FF9 (A), (C) 77 (D)

(3) A= (B). (C) = (E) (4) ¥4 (A). (B). (C) #1 (E)
Options :

53622814841. 1
53622814842. 2
53622814843.3
53622814844. 4

Question Number : 37 Question Id : 5362283811 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Photo Voltaic system (PV-system) arrange the following from smallest to the largest unit
(A) Module
(B)  Array
(C) Solar cell
(D)  Array field

Choose the correct answer from the options given below :

(I (B (D). (A). (C) (2) (B). D). (C). (&)
(3) (). (B). (D). (A) 4) (0. (A). (B). (D)
Options :

53622814845. 1
53622814846. 2
53622814847. 3
53622814848. 4

Question Number : 37 Question Id : 5362283811 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SERTET— T et (Y ST ) |, et W e Tel ° d96H "9 3% % FH ° oS

(A) "

B) ™

(C) =RoEA

(D) T EE

4= 2 o famem § 1 w9 s 9t

1) @®). D). @A), © @)  (B). (D). (C). (A)

(3) (O (B). D). A) 4) (0. (A). B). (D)
Options :

53622814845. 1
53622814846. 2
53622814847.3
53622814848. 4

Question Number : 38 Question Id : 5362283812 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of particulate matter pollutants are used in calculation of Air
Quality Index (AQI)?

(A) TSP (Total Suspended Particles)

(B) PM 10 (Particulate matters of size 10 micron or less)
(C)  PM 2.5 (Particulate matter of size 2.5 micron or less)
(D) PM 1 (Particulate matter of size 1 micron or less)

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A)and (B) only
(3) (B) and (C) only (4) (A). (B)and (C)only
Options :

53622814849. 1
53622814850. 2
53622814851.3
53622814852. 4

Question Number : 38 Question Id : 5362283812 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A T G (U F AE) A A e § 6w A e g e (Wi de) wge
EI R IR o e 1

(A)  FTH A (F FEIEs )

(B) i wg 10 (10 5rEsA 1 356 FH AT gL

(C) T 2.5 (2.5 9EEH I IHE FH AR F GEAH)

(D) T A 1(1AEFE T IHE FH AT F EEE)

H T2 T fael ® W WA I g

(1) == (B). (C) w7 (D) (2) == (A) =1 (B)

(3)  Faa (B) 31 (C) (4 F79 (A). (B) = (C)
Options :

53622814849. 1
53622814850. 2
53622814851. 3
53622814852. 4

Question Number : 39 Question Id : 5362283813 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List I :

List I List IT
(International Agreements) (Provisions)
(A) DMontreal Protocol (I) Clean affordable energy
(B) Kyoto Protocol (II) Controlling consumption and

production of Halons
(C) Convention on Biodiversity (IIT) Emissions trading

(D) International Solar Alliance (IV) Clearing House Mechanism

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1), (C)-(IIL), (D)-(I)
(2) (A)-(ID). (B)-(D). (C)-(IID). (D)-(IV)
(3) (A)-(ID). (B)-(I). (C)-(IV). (D)-(I1I)

(4 (A-AD. (B)-ID). (C)-(IV), (D)-(I)

Options :
53622814853. 1



53622814854.2
53622814855.3
53622814856. 4

Question Number : 39 Question Id : 5362283813 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TA1-1 %1 G115 FHferm it -

il
(AFTTEE T

(A) HifE T

(B) AT TR

(D) FTETHA TR TAEE

Hr fau T fae o wE I g
(1) (A)-(IV). (B)-(II). (C)-(IIL), (D)~(T)
(2) (A)-(II). (B)-(I), (C)-(III). (D)-(IV)

(3)  (A)-D. B)-@). (C)-(IV). (D))

(AN (AN (TTY (B TTT (0N (TN M M
Options :
53622814853. 1
53622814854.2
53622814855. 3
53622814856. 4

ey

(II)

=111

RIERIED

2
== Tl S

A I @Y AN 30T B HAEE B

(III) e =9mar

AV) FeAETT FTEE TR

Question Number : 40 Question Id : 5362283814 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I List IT
(Toxic and Hazardous substances) (Major sources)
(A) Vinyl chloride (). Electric Insulations
(B) Polychlorinated biphenyls (PCBs) (II) Fuel combustion
(C) Benzo(a)pyrene (IIT) Plastics Industrial uses
(D) Polyeyelic Aromatic Hydrocarbons (IV) Waste Incineration

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-(III). (C)-(IV). (D)-(IT)
2y  (A)-D. (B)-IID). (C)-(D). (D)-(IV)
(3)  (A)-IID. (B)-(IV). (C)-(ID), (D)-(D)

(4 (A)-(IID). (B)-(D). (C)-(IV), (D)-(1I)
Options :

53622814857. 1

53622814858. 2

53622814859. 3

53622814860. 4

Question Number : 40 Question Id : 5362283814 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(B) TS AEEATEed (41 H E) ) P ==
(C) == (u) wE (IIT) weiEesh =1 S 390
(D) T EEF T FEEEEA AV) aafeTe S
Fr= fau T fawen B ° TE I T

(1) (A)-(D). (B)-(I1I), (C)-(IV), (D)-(II)
(2 (A)-D. (B)-(IID), (C)-(I). (D)-(IV)
(3)  (A)-ID. (B)-AV). (C)-(II). (D)-(I)

(4  (A)-dD). (B)-(D. (C-IV), (D)-(1I)
Options :
53622814857. 1
53622814858. 2
53622814859. 3
53622814860. 4

Question Number : 41 Question Id : 5362283815 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which year. All India Council for Technical Education was set up as a statutory body by
an Act of Parhament?

(1) 1986 (2) 1987
(3) 1988 (4) 1939
Options :

53622814861. 1
53622814862. 2
53622814863. 3
53622814864. 4

Question Number : 41 Question Id : 5362283815 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



il § @ 55 99 § 962 F A0aEE 3R UF Aifaad Fem k=Y 5 g 9Ay g e

ieag =1 T T i Y

(1) 1986 (2) 1987
(3) 1988 (4y 1989
Options :

53622814861. 1
53622814862. 2
53622814863. 3
53622814864. 4

Question Number : 42 Question Id : 5362283816 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the characteristics of an effective team in an institution of higher learning?

(A) The atmosphere tends to be informal in which members of team are involved.
(B) There 1s a lot of discussion in which everyone participates.

(C) The task of the group 1s well understood and accepted by the group members.
(D) The members of the group are not afraid of putting forth their ideas.

(E) The members of the group avoid disagreement and conflict among themselves.

Choose the correct answer from the options given below :

(1) (A), (B). (C), (D) only (2) (B), (C). (D). (E) only
(3)  (C), (D). (E), (A) only (4) (E). (A), (B). (C) only
Options :

53622814865. 1
53622814866. 2
53622814867. 3
53622814868. 4

Question Number : 42 Question Id : 5362283816 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



eu Afem % el o § vy 2w o e e 2
(A)  FEE AETETE B R, T | F e F griiEnl 26 R

(C) =z % + =l FT=di ol THET 11 & 31T B9z o Te =l = a2 7 |
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(1) a9 (A), (B). (C), (D) (2) F7 (B). (C). (D). (E)
(3) A= (C). (D). (E). (A) (4) Fa (E). (A). (B). (C)

Options :

53622814865. 1
53622814866. 2
53622814867. 3
53622814868. 4

Question Number : 43 Question Id : 5362283817 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Helping individuals and social groups acquire social values. contributes to development of :

(1) Environmental awareness (2) Environmental knowledge

(3) Environmental attitude (4) Environmental skills

Options :

53622814869. 1
53622814870. 2
53622814871. 3
53622814872. 4

Question Number : 43 Question Id : 5362283817 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T qoal W1 Tev] 9 ° Al H BIETAE wgE i gEEa e apree s E:

{1) mr':l I.Uﬁl g AR (2} EEIE LIRS T ™ GG
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Options :



53622814869. 1
53622814870. 2
53622814871. 3
53622814872. 4

Question Number : 44 Question Id : 5362283818 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The principal responsibilities of Academic Council in a Unmiversity include

(A) Maintenance of guality and standards of academic programmes

(B) Planning, coordination. development, oversight and review of academic programmes
of University

(O Layving down the essential qualifications for recruitment of faculty in various
disciplines.

(D) Framing and revising/updating the contentz of courses of various academic
programimes.

(E) Approval of fee structure for various academic programmes

Choose the correct answer from the options given below :

(1) (A). and (B) only (2) (A). (B). (D) and (E) only
(3) (A). (B), (C) and (D) only (4) (A). (B). (C) and (E) only
Options :

53622814873. 1
53622814874.2
53622814875. 3
53622814876. 4

Question Number : 44 Question Id : 5362283818 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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$5 T Pt A w9
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Options :

53622814873. 1
53622814874.2
53622814875. 3
53622814876. 4

Question Number : 45 Question Id : 5362283819 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT : List — I and List — IT consist of types of procedures used for
contlnuous appraisal of teaching and non-teaching staff in higher education and
characteristics of these appraisal respectively :

List I List IT
(Types of Appraisal) (Characteristics)

(A) Developmental (I) Concerned with doing and achieving

(B) Managerial (I) Concerned with moral, ethical and
professional values

(C) Laissez-faire (ITI) Concerned with maintenance of social
control

(D) Judgemental (IV) Concerned with the importance of

self-development.

Choose the correct answer from the options given below :

(1)  (AIID. (B)-(IV). (C)-(ID), (D)-(I)
(2)  (A)-ID. (B)-(D). (C)-(IV). (D)-(I1I)
(3) (A)-(D. (B)-(III). (C)-(II). (D)-(IV)
@ (A)-OV), (B)-ID), (C)-(ID), (D)-(T)

Options :

53622814877. 1
53622814878. 2
53622814879.3
53622814880. 4

Question Number : 45 Question Id : 5362283819 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(ITI). (B)-(IV). (C)-(IT), (D)-(I)
(2) (A)-(II). (B)-(I), (C)-(IV). (D)-(I1T)
(3) (A)-(D). (B)-(III), (C)~(II). (D)-(IV)
(4) (A)-(IV). (B)-(II). (C)-(I1L). (D)-(I)

Options :

53622814877. 1
53622814878.2
53622814879. 3
53622814880. 4

Sub-Section Number : 3
Sub-Section Id : 536228151
Question Shuffling Allowed : Yes

Question Id : 5362283820 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer gquestions 46 to 50.

‘Power’ has been differentiated by numerous authors and practitioners. Amitai Etzioni was
among the first to deseribe individuals who are able to induce other individuals to comply
and take action because of their position in the organization as having position power; those
who derive their power from their followers are considered to have personal power. Some are
skilled enough to have both. Position power 1s the extent to which those people to whom
managers report are willing to delegate authority and responsibility to them. So position
power tends to flow down 1n an organization. This is not to say that leaders do not have any
impact on how much position power they accrue. They certainly do. The confidence and trust
they develop with the people around them will often determine the willingness of upper
management to delegate to them. Remember. though. that whatever power 1z delegated
downward can also be taken back. Personal power 1s the extent to which followers respect,
feel good about. and are committed to the leader. They believe that their own needs and
goals will be recogmized. supported. and facilitated by their leader. As such personal power in
an organisational setting comes from below - from the followers — and so flows up 1n an
orgamisation. Personal power 1s not inherent in the leader. If it were. managers with
personal power could take over any department and have the same commitment and rapport
they had in their last department. Personal power 1s a day-to-day phenomenon. Personal
power 1s a critical part of having and demonstrating emotional intelligence.

Sub questions

Question Number : 46 Question Id : 5362283821 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When individuals 1n an organisation ask others to comply with their instructions. it is

identified as

(1) organizational power (2) positional power
(3) authoritarian power (4) delegated power
Options :

53622814881. 1
53622814882. 2
53622814883.3
53622814884. 4

Question Number : 47 Question Id : 5362283822 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Personal power emanates from

(1) the group of managers

(2) the delegation of responsibility

(3) the followers

(4) the top-level executives In an organisation

Options :

53622814885. 1
53622814886. 2
53622814887.3
53622814888. 4



Question Number : 48 Question Id : 5362283823 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Delegation of power to managers depends upon

(1) downward flow of authority (2) the whimsicality of top managers
(3) the people around the management (4) the trust reposed by the top managers
Options :

53622814889. 1
53622814890. 2
53622814891. 3
53622814892. 4

Question Number : 49 Question Id : 5362283824 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Position power, when delegated 1s

(1) volatile (2) permanent
(3) absolute (4) 1nherent
Options :

53622814893. 1
53622814894. 2
53622814895. 3
53622814896. 4

Question Number : 50 Question Id : 5362283825 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage recognizes the critical role of
(1) faith of the leader in his followers

(2) emotional intelligence to have personal power

(3) needs and goals of managers for personal power

(4) power flowing upwards so that managers can gain personal power
Options :

53622814897. 1
53622814898. 2
53622814899. 3
53622814900. 4

Question Id : 5362283820 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362283821 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
v el T 4 v =afoa g0 AW A0 F SEIeR w6 00 wEal 2 a1 39 3@ TEE TR
1 1

(1)  TETE o (2) feaias ot
(3)  wAlg=wR ARl I (4) wEFEEHT T
Options :

53622814881. 1
53622814882. 2
53622814883. 3
53622814884. 4

Question Number : 47 Question Id : 5362283822 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT W 3HE Io9= w7 7
(1) =R % 598
{2} > [ l:‘_v_"-' %ﬁ r.l..ﬂ. ]':[
(3)  FFAEE A
(4)  HE H T EW % R H
Options :

53622814885. 1
53622814886. 2



53622814887. 3
53622814888. 4

Question Number : 48 Question Id : 5362283823 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  T9E T A9-TTF (2) =49 UEEY TEHF F GAEE0E
(3)  TEEA = E T A (4) === "= THGH g ASIEE 19
Options :

53622814889. 1
53622814890. 2
53622814891. 3
53622814892. 4

Question Number : 49 Question Id : 5362283824 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) AfEE =6 2 (2) v B 7
(8)  Twue = B (4) w=AHE =2
Options :

53622814893. 1
53622814894. 2
53622814895. 3
53622814896. 4

Question Number : 50 Question Id : 5362283825 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(2) 9T U % T S It B =
(3)  aFfHas wifFa =+ fow weaenl i sEvaFaT ug @
(4)  wifFa ST A E AT TeeE dataaE T 0 5
Options :
53622814897. 1
53622814898. 2

53622814899. 3
53622814900. 4



PART II Public Administration

Section Id : 53622852
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228152
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283826 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Administration, “has evervwhere alongside the actual reality, a bureaucratic reality, which
retains its authority. howsoever, much the times may change”.

Identify the author of the above obzervation.

(1) Max Weber
(3) F.M. Marx

Options :

53622814901. 1
53622814902. 2
53622814903. 3
53622814904. 4

Karl Marx
J.S. Mall

Question Number : 51 Question Id : 5362283826 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TOTEA R T W aRAEE 39y W @TY-ETY, U ARTE 9y B AT £ S, 99 5 o9Y e A A

(1) =9\ == @) e T
(3)  TE.EA. " 4) F.om. fim
Options :

53622814901. 1
53622814902. 2
53622814903. 3
53622814904. 4



Question Number : 52 Question Id : 5362283827 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who said “All administration today is political since it must be responsive to public
interest”?

(1) Brian Chapman (2) Paul Appleby
(3) E.N. Gladden {4y O Glenn Stahl
Options :

53622814905. 1
53622814906. 2
53622814907. 3
53622814908. 4

Question Number : 52 Question Id : 5362283827 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“HTH T TIEA TSAIAF 7 =66 38 993 7 o (7 o Ui S8l 7 =9ien,” 97 e w2 0

(1) IR T:T‘ZI{:FI (2) 7= UFL_E':'_'IEF
(3)  E.UH. TEEE (4) 1. TE =EE
Options :

53622814905. 1
53622814906. 2
53622814907. 3
53622814908. 4

Question Number : 53 Question Id : 5362283828 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of ‘therblig’. a category of eighteen basic human motions — all physical activity.
was developed by

(1) F.W. Taylor (2) Henri Fayol
(3) Frank and Lillian Gilberth (4) Mary Parker Follett
Options :

53622814909. 1
53622814910. 2
53622814911. 3
53622814912. 4

Question Number : 53 Question Id : 5362283828 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

STANE g1 AE oA T R TAiEia - Faarn aifee # ey 3 e
(1) TF. 59, 7o (@) = FEw
(3) = 3 Tetema fread (4) 1 9T Fiee

Options :

536228149009. 1
53622814910. 2
53622814911. 3
53622814912. 4

Question Number : 54 Question Id : 5362283829 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following concept 1s interrelated?

(1) Responsibility & Control (2) Superwvision & Order
(3) Accountability & Responsibility (4) Accountability & Control
Options :

53622814913. 1
53622814914. 2
53622814915. 3
53622814916. 4

Question Number : 54 Question Id : 5362283829 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) TSI A (2) TEEET T =EE
(3) F=an] 3 saiaes (4) TeHar a
Options :

53622814913. 1
53622814914.2
53622814915. 3
53622814916. 4

Question Number : 55 Question Id : 5362283830 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘Grapevine’ 1s often referred as

(1) Formal Communication (2) Telephonic Communication
(3) Informal Communication (4) Vertical Communication
Options :

53622814917. 1
53622814918. 2
53622814919.3
53622814920. 4

Question Number : 55 Question Id : 5362283830 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘SR FAT (AT ) B SEET FefeRad 5 H w0 FE A 2 Y

(1)  #r=nies Juem (2) FEHTF Hw

(3)  wEETE U0 (4) FETEE I
Options :

53622814917. 1
53622814918. 2
53622814919. 3
53622814920. 4

Question Number : 56 Question Id : 5362283831 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The beginning of “psychological” approach to Public Administration can be traced to

(1) Marry Parker Follet (2) Herbert Simon
(3) Robert Presthus (4) Louis Brownlaw
Options :

53622814921. 1
53622814922. 2
53622814923. 3
53622814924. 4

Question Number : 56 Question Id : 5362283831 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) = 9 Fiere (2) =2 O
(3)  Tiwe wum (4) T FEA
Options :

53622814921. 1
53622814922.2
53622814923. 3
53622814924. 4

Question Number : 57 Question Id : 5362283832 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The book “Leadership and Administration™ was written by

(1) Herbert A. Simon (2) Peter Blau
(3) Victor Vroom (4) P.Selznick
Options :

53622814925. 1
53622814926. 2
53622814927. 3
53622814928. 4

Question Number : 57 Question Id : 5362283832 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- i~ - e E = VR (a3 i -
ST U5 U= 506 e Tordl i 7

(1) == U, #E (2) e w=E
(3) Tag= @™ (4) 1. TR
Options :

53622814925. 1
53622814926. 2
53622814927. 3
53622814928. 4

Question Number : 58 Question Id : 5362283833 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The epistemological approach adopted by Herbert Simon in his book “Administrative
Behaviour™ is

(1) Positivism (2) Empiricism
(3) Logical positivism (4) Structural functionalism
Options :

53622814929. 1
53622814930. 2
53622814931.3
53622814932. 4

Question Number : 58 Question Id : 5362283833 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e HTEAA AT A1 TEF TSRS WEfE B A9 T A e f

(1) BRI (2) EEEIE
{3} ﬁT&h-“ PRSI 2 I T {4) J.ni{'cj.-’*‘rj_lr*l .'J'-1"l|"-4r"-“’l'l
Options :

53622814929. 1
53622814930. 2
53622814931. 3
53622814932. 4

Question Number : 59 Question Id : 5362283834 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following pairs 1s not correctly matched?

Teadership Style Features
(1) Participative —  Consultative to democratic
(2) Bureaucratic —  Rigmd. impersonal. rule oriented
(3) Diplomatic —  Setting goals. delegation
(4) Autocratic — Non-consultative. orders
Options :

53622814933. 1
53622814934.2
53622814935. 3
53622814936. 4

Question Number : 59 Question Id : 5362283834 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814933. 1
53622814934.2
53622814935. 3
53622814936. 4

Question Number : 60 Question Id : 5362283835 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who distinguished two types of bureaucracy as punishment-centered bureaucracy and

representative bureaucracy?

(1) Peter Blau (2) Robert Merton
(3) Alwin Gouldner (4) Robert Presthus
Options :

53622814937. 1
53622814938. 2
53622814939. 3
53622814940. 4

Question Number : 60 Question Id : 5362283835 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

N TFR F ATTHEG T, IS-IIG ATTHEH 7 3R At stuw 73 w5 A6 e e

(1) i =2 (2) = mEA
(8)  Tfega TMeEA (4) TEE TEYH
Options :

53622814937. 1
53622814938. 2
53622814939. 3
53622814940. 4



Question Number : 61 Question Id : 5362283836 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The principle of correspondence by Urwick 1s about

(1) Communication (2) Authority and Responsibility
(3) Co-ordination (4) Co-operation
Options :

53622814941. 1
53622814942.2
53622814943. 3
53622814944. 4

Question Number : 61 Question Id : 5362283836 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tk =1 T w5 Egd TR E wetad 20

5 : (2) TR UEY SEETEE
(3) HH=H (4) ==
Options :

53622814941. 1
53622814942. 2
53622814943. 3
53622814944. 4

Question Number : 62 Question Id : 5362283837 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following verifies the beneficiaries under Prime Ninister Awas Yojna

(Gramin)?

(1) Gram Sabha (2) Gram Panchavat

(3) Panchavat Samiti {4) Zila Parishad
Options :

53622814945. 1
53622814946. 2
53622814947. 3
53622814948. 4

Question Number : 62 Question Id : 5362283837 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

freferfiga § o =i wawEE SEE AT (W) F ST S 6 S w5l 7

(1) IH =4l (2) W T=Ed
(3)  TEEE HHA (4) e uftg
Options :

53622814945. 1
53622814946. 2
53622814947.3
53622814948. 4

Question Number : 63 Question Id : 5362283838 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the reason to observe 24 April as National Panchayati Raj Day?

(1) To laud India’s First Prime Minister's contribution to the Panchavati Raj
(2) To remeber the launch of Community Development Programme
(3) In memory of Balwant Rai Mehta's birthday

{4) To mark enforcement of the 73 Constitutional Amendment Act.

Options :

53622814949. 1
53622814950. 2
53622814951. 3
53622814952. 4

Question Number : 63 Question Id : 5362283838 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freAferiiad § | 1987 24 9ie ®1 UUE TSl 7 599 % =9 94 H w0 27
(1)  97F = 999 TaEEEl % T=Ea] 5 | AR A S

(3) = TF HEAT F FAieas = g |

(4) 73 9 AfEgE "9 AT % AE] T WE 6 I0esd § aEE
Options :

53622814949. 1
53622814950. 2



53622814951. 3
53622814952. 4

Question Number : 64 Question Id : 5362283839 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statement 1s not correct about the Gram Sabha according to the
73" Constitutional Amendment Act?
(1) It gave a constitutional status to this grassroot institution.

(2) Two meetings of this institution in a month., must be called compulsorily, othewise

the post of Sarpanch will be declared vacant.

(3) It assists the Panchayvat of its area in the execution of various rural development
schemes.
(4) The Gram Panchayat Secretary 1s the Secretary of 1t as well.
Options :

53622814953. 1
53622814954. 2
53622814955. 3
53622814956. 4

Question Number : 64 Question Id : 5362283839 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

73 9 HEaH TG ATGHE 5 AR UH TG F 69 J Hefenad § 8 i 9 9 g6l 6 A e

(1) =6+ 33 FHE e = g9 2= )

(2) =9 H= i UeAh HIE A1 S3% WEvd g FHl 91U Su] " % U2 H i uid #

el
(3) == fafay Wi fahg =hil = TRaaae 0 3794 &9 =l 9=1Ea i gerdr w7 |
(4) I T Orad eHe o of=a = 2l

Options :

53622814953. 1
53622814954.2
53622814955. 3
53622814956. 4

Question Number : 65 Question Id : 5362283840 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Presiding Officer of Zila Parishad (District Development Council) is known as Zila
Pradhan in the state of

(1) Madhya Pradesh {2) Haryana
(3) Odisha (4) Punjab
Options :

53622814957. 1
53622814958. 2
53622814959. 3
53622814960. 4

Question Number : 65 Question Id : 5362283840 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e uftmz (fefewe Zaemde wEiEe) + A998 =+ Fefieigd 3 9 768 759 0 T5e 996 & 59 § 56
LA
(1) J= 9T (2) =fEmn
(3)  awfsm (4) v
Options :

53622814957. 1
53622814958. 2
53622814959. 3
53622814960. 4

Question Number : 66 Question Id : 5362283841 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the Committee. which demanded for the first time. a constitutional recognition for

Panchavats.

(1) The Ashok Mehta Committee (2) L.M. Singhvi Committee

(3) G.V.E. Rao Committee (4) Girdharilal Vyas Committee
Options :

53622814961. 1
53622814962. 2
53622814963. 3
53622814964. 4

Question Number : 66 Question Id : 5362283841 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) =i S=an amE (2) TEEE, T =
(3)  H.ELF. 79 HEA (4) Trud=E =9 gfbd
Options :

53622814961. 1
53622814962. 2
53622814963. 3
53622814964. 4

Question Number : 67 Question Id : 5362283842 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The book Development Administration in Asia’ was written by

(1) William Siffin (2) Edward Weidner
(3) Ralph Braibanti (4) Milton Esman
Options :

53622814965. 1
53622814966. 2
53622814967. 3
53622814968. 4

Question Number : 67 Question Id : 5362283842 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"‘_"EI_"F:[-—_, = -h__’ qu . 1: ;d '__:':[ .Irrn.n_l.". ) @ _'ITI':|_F:'- w\_ =1 :q; -I:;‘| Elr-ﬁ ?: :

(1)  fafers fafe (2) TS TN
(3)  T=F el (4) ToeTe TEA
Options :

53622814965. 1
53622814966. 2
53622814967. 3
53622814968. 4

Question Number : 68 Question Id : 5362283843 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following institution was created in Britain in 1967 to examine the complaints

of maladministration?

(1) Whatley Council (2) Procurator General
(3) Parliamentary Commissioner (4) Citizen Charter
Options :

53622814969. 1
53622814970. 2
53622814971. 3
53622814972. 4

Question Number : 68 Question Id : 5362283843 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FoATET HEHT el #1 usde # o 52 9 1967 | e § @ F w gee g i ofi v

(1)  Toreet F3faa (2) g FE
(8) e FE (4) Todtsa =
Options :

53622814969. 1
53622814970. 2
53622814971.3
53622814972. 4

Question Number : 69 Question Id : 5362283844 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

One of the most important features of U.S.A. Constitution 1s

(1) President’'s Office (2) Airforce One
(3} Department of Commerce {(4) Checks and Balances
Options :

53622814973. 1
53622814974.2
53622814975. 3
53622814976. 4

Question Number : 69 Question Id : 5362283844 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s G =i gaitas Aeeagel Fermas 9 85 U o

(1)  Tggld 1 =@ (2) TIEHE T
(3) =TT f=an (4) =EE UZ g
Options :

53622814973. 1
53622814974. 2
53622814975. 3
53622814976. 4

Question Number : 70 Question Id : 5362283845 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Gerrymandering’ 1s assoclated with which of the following country?

(1) Canada (2) USA
(3) TK (4) Norway
Options :

53622814977. 1
53622814978. 2
53622814979. 3
53622814980. 4

Question Number : 70 Question Id : 5362283845 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST g om o Hatag 27

(1) FATS (2) sTafRT
(3) fa= (4) =
Options :

53622814977. 1
53622814978. 2
53622814979. 3
53622814980. 4

Question Number : 71 Question Id : 5362283846 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The primary function of the 24 Departmentally-related Standing Committees of the
Parliament is to

(1) Redress financial grievances

(2) Look into accounting procedures of the government
(3) Examine the demand for grants presented by different ministries
(4) Monitor government expenditure

Options :

53622814981. 1
53622814982. 2
53622814983. 3
53622814984. 4

Question Number : 71 Question Id : 5362283846 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THe 1 24 fagm-gEdt Tar afafE & ooga w1 E
(1) o= FoeFra 7

(2)  TEHE 1 oy B TR S e

(3) fafis T=nel g7 WA SHEE A7 6 A" F

(4) TR = i T
Options :
53622814981. 1
53622814982. 2
53622814983. 3
53622814984. 4

Question Number : 72 Question Id : 5362283847 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

After how many yvears. since 1ts inception. the present Government approved the merger of
Railway Budget with the General Budget?

(1) 90 years (Z) 91 years
(3) 92 vears (4) 93 vears
Options :

53622814985. 1
53622814986. 2
53622814987.3
53622814988. 4

Question Number : 72 Question Id : 5362283847 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[

SHI IEHATE o T =TT W% FAuE 0T | 16 992 % W o9 § e w1 g9 81 ¢

(1) 90=d 2y o199
(3) 92am (4) 9379
Options :

53622814985. 1
53622814986. 2
53622814987. 3
53622814988. 4

Question Number : 73 Question Id : 5362283848 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s not the objective of disinvestment?

(1) Revenue Collection (2) Resource Mobilisation
(3) Corporate Objectives (4) Direct Participation by Publec
Options :

53622814989. 1
53622814990. 2
53622814991. 3
53622814992. 4

Question Number : 73 Question Id : 5362283848 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frAfafas 8 7 =i &= =1 35573 T9 27

() == JwE (2) TETEA T2
(3)  FHAUNZ 379 (4) =1 Tl TeAE qTIERT
Options :

53622814989. 1
53622814990. 2
53622814991. 3
53622814992. 4

Question Number : 74 Question Id : 5362283849 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not punishable under Section 3 (1) of Scheduled Castes and
Scheduled Tribes (Prevention of Atrocities) Act. 19897

(1) Foreing a Scheduled Tribe to drink and eat any inedible substance
(2) Dumping waste matter in the neighbourhood of a Scheduled Tribe

(3) Preventing a Scheduled Tribe from entering a place of worship which is open to other
persons professing the same religion

(4) Compelling a Scheduled Tribe person to do a begar

Options :

53622814993. 1
53622814994. 2
53622814995. 3
53622814996. 4

Question Number : 74 Question Id : 5362283849 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SFIHEA F1A F FEET S (A Han) afatEg, 1980 F am 3 (1) F adE FefEtEa 1 5
F EEAE TR B T

(1) = S = TRl =30 1 S7ET 9214 S Fe w0

(2)  FAEE St & R s 6 asw A et ged w5 e |

(3) AR WG % FREl S R UH US EUE § 999 § UEA 9] SH 9° F AEA G A
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@) el S e s A s e fee e

Options :

53622814993. 1
53622814994. 2
53622814995. 3
53622814996. 4

Question Number : 75 Question Id : 5362283850 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s correct regarding punishment inflicted on a person if he ‘insults or
attempts to insult, on the ground of "untouchability” a member of Scheduled Caste’ under
the Protection of Civil Rights Act. 19552

(1) Maximum one month imprisonment with or without fine

(2) Maximum three months imprisonment with or without fine

(3) Maximum six months imprisonment with or without fine

(4) Maximum one vear imprisonment with or without fine
Options :

53622814997. 1
53622814998. 2
53622814999. 3
53622815000. 4

Question Number : 75 Question Id : 5362283850 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AN SRR e SafEE, 1955 F 9dH “FAEET S99 F e AE5E F CSEmEar & aE W
HTHE" B AYT FIHE FT TAH HAA oA ) S15d i o gey 0 Feietiad 7 9 o 98 2 7

(2)  THW % W9 T 3G {61 SAiuman 94 5E 1w

(3)  THE F AG T IEF S AFEAE TE 0 1 FOEH

(4)  FHM F TG A IS & AFIH 0F AT H FOEE

Options :

53622814997. 1
53622814998. 2
53622814999. 3
53622815000. 4

Question Number : 76 Question Id : 5362283851 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Article of the Constitution of India guarantees protection from social injustice and all
forms of exploitation?

(1) Article 14 (2)  Article 15 (1)
(3) Article 17 (4) Article 46
Options :

53622815001. 1



53622815002. 2
53622815003. 3
53622815004. 4

Question Number : 76 Question Id : 5362283851 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I = HESH = HE W ATemE T S ST I % G T H 0] = T 21 2 7

(1) = g=ss 14 2 w=aE 15(1)
(3) s 17 (4) >T=2% 46
Options :

53622815001. 1
53622815002. 2
53622815003. 3
53622815004. 4

Question Number : 77 Question Id : 5362283852 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of following 1s not a women empowerment scheme launched by the Union Ministry of
Women & Child Development?

(1) NIRBHAYA (2) Swadhar Greh
(3) Scheme for Adolescent Girls (4) Working Women Hostel
Options :

53622815005. 1
53622815006. 2
53622815007. 3
53622815008. 4

Question Number : 77 Question Id : 5362283852 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ftanas 8 | #19 Of TF Thig 29 0iEe 9 9T S0 9970 26T S i TS AR A Shim
T a7

(1) (2) TEEE TR

(3) o afemmal =+ fow = (4) THHEHTH] HiET B2

Options :

53622815005. 1



53622815006. 2
53622815007. 3
53622815008. 4

Question Number : 78 Question Id : 5362283853 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Maintenance and Welfare of Parents and Senior Citizens Act was passed by the
Parliament in the year

(1) 2004 (2) 2006
(3) 2007 (4) 2009
Options :

536228150009. 1
53622815010. 2
53622815011. 3
53622815012. 4

Question Number : 78 Question Id : 5362283853 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TqraT-Toar 3t aig AT = 9ro-9r9or 9 Feary St gE2 g e ad | i e oot

(1) 2004 (2) 2006
(3) 2007 (4) 2009
Options :

53622815009. 1
53622815010. 2
53622815011. 3
53622815012. 4

Question Number : 79 Question Id : 5362283854 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Policy Sciences must integrate knowledge from a variety of branches of knowledge and
build it up into a supradiscipline focusing on public policy making”.

Identify the author of the above statement :

(1) Harold lazwell (2) Thomas R.Dye
(3) Dawvid Easton {(4) Yehezkel Dror
Options :

53622815013. 1
53622815014. 2



53622815015. 3
53622815016. 4

Question Number : 79 Question Id : 5362283854 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Hifa fosm =1 5= i s wm@E ® 7 v W a9 = A R O e g 2w 3w v
fawg s =itEn|

OO U R SEE w R

(1)  #ie= =aaa (2) uHE AW, =
(3) sz A (4) I=== 3
Options :

53622815013. 1
53622815014. 2
53622815015. 3
53622815016. 4

Question Number : 80 Question Id : 5362283855 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“The role of policy analysis 1s contributing to the improvement of politics, rather than acting
as a substitute for 1t".

Identify the author of the above statement.

(1) Charles Lindblom (2) Harold Laswell
(3) ERobert Denhardt (4) Aaron Wildavasky
Options :

53622815017. 1
53622815018. 2
53622815019. 3
53622815020. 4

Question Number : 80 Question Id : 5362283855 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Hifq e i i TG ¥ GUR @H § G0 w9 6 E 7 W 97 369 9Eed 217 98 FYE e
T AR

(1) =" fiseam (2) w=s =iEae

(3) T SRR (4) A e



Options :

53622815017. 1
53622815018. 2
53622815019. 3
53622815020. 4

Question Number : 81 Question Id : 5362283856 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Public Policy as one sphere of social action affecting other spheres of social action 1= called

(1) Externalities (2) Black Box
(3) Ehtism (4) Incrementalism
Options :

53622815021. 1
53622815022. 2
53622815023. 3
53622815024. 4

Question Number : 81 Question Id : 5362283856 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) =TT (2) = =i
(3) A= (4) =TaaEE
Options :

53622815021. 1
53622815022. 2
53622815023. 3
53622815024. 4

Question Number : 82 Question Id : 5362283857 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Policy on policy making. dealing with characteristics of the policy making system 1s referred
as

(1) Mega Policy (2) Meta Policy
(3) Meta Control (4) Meta Decision
Options :

53622815025. 1
53622815026. 2
53622815027. 3



53622815028. 4

Question Number : 82 Question Id : 5362283857 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) = A (2) e A
(3)  Hz (4) @z o
Options :

53622815025. 1
53622815026. 2
53622815027. 3
53622815028. 4

Question Number : 83 Question Id : 5362283858 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The objective of policy analysis 1s to

(1) Provide heuristic aid to policy making

(2) Redesign policies

(3) Identify alternatives for implementation
(4) Study and research on decision systems
Options :

53622815029. 1
53622815030. 2
53622815031. 3
53622815032. 4

Question Number : 83 Question Id : 5362283858 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ol [
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(1)  ifa frafo § s=momens oEae F
(2) et = gEfEm we
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Options :
53622815029. 1
53622815030. 2



53622815031. 3
53622815032. 4

Question Number : 84 Question Id : 5362283859 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The French Administrative law is known as

(1) Natural Justice (2) Droit Administratif
(3) Constitutional law (4) Parlhiamentary law
Options :

53622815033. 1
53622815034. 2
53622815035. 3
53622815036. 4

Question Number : 84 Question Id : 5362283859 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

wEEH TmEEF A s T T s e = g A AT B

() s = (2) 3=z M=
(3) =g & (4) —EEm &g
Options :

53622815033. 1
53622815034. 2
53622815035. 3
53622815036. 4

Question Number : 85 Question Id : 5362283860 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following i1s not part of the core features of governance?

(1) Transparency (2) Hierarchy
(3) Rule of Law (4) Ethics & Integrity
Options :

53622815037. 1
53622815038. 2
53622815039. 3
53622815040. 4



Question Number : 85 Question Id : 5362283860 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fferfiga 8 @ %= =1 v wee =i g fafereae = oam AE 20

(1)  "wEf (2) TEETH
(3)  fara =1 wmEA (4) =W T TeAHET
Options :

53622815037. 1
53622815038. 2
53622815039. 3
53622815040. 4

Question Number : 86 Question Id : 5362283861 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s a quasi-judicial body?

(1) Press Council of India

(2) Central Pollution Control Board
(3) Electricity Ombudsman

(4) Biodiversity Authority of India
Options :

53622815041. 1

53622815042. 2

53622815043. 3
53622815044. 4

Question Number : 86 Question Id : 5362283861 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafad 5 7 % 7 0F g -=aE e 7
(1) v 7= Ty
(3)  THATFREE ATEgEE
(4)  urdAE A9t wigw

Options :

53622815041. 1
53622815042. 2
53622815043. 3
53622815044. 4



Question Number : 87 Question Id : 5362283862 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In unstructured interview, questions are

(1) Predetermined in content and in form

(2) Predetermined in content and not in form

(3) Predetermined in form. but not in content

(4) Predetermined neither in content nor in form
Options :

53622815045. 1
53622815046. 2
53622815047.3
53622815048. 4

Question Number : 87 Question Id : 5362283862 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEIEA TTeETRE ° WS B R

(1) ey s =g 4 gE-Freff
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Options :

53622815045. 1
53622815046. 2
53622815047. 3
53622815048. 4

Question Number : 88 Question Id : 5362283863 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a technique of Social Case Work?

(1) Interviewing (2) Counselling
(3) Lobbying (4) Observation
Options :

53622815049. 1
53622815050. 2
53622815051. 3



53622815052. 4

Question Number : 88 Question Id : 5362283863 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TrATeaiiad 5 o Fi9d TS e (WO FH °2) Fi A 16 2 7

r

(1)  =&eFr = (2) T
(3) e (4) EETEA
Options :

53622815049. 1
53622815050. 2
53622815051. 3
53622815052. 4

Question Number : 89 Question Id : 5362283864 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sociogram and soclometry are technigues used to measure

(1) Attitude (2) Behaviour
(3) Interpersonal Relations (4) Intelligence
Options :

53622815053. 1
53622815054. 2
53622815055. 3
53622815056. 4

Question Number : 89 Question Id : 5362283864 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FHT - ATOTE AN HHATAA G T TREE A 8 39 e S A

(1)  wAHgH (2) =aE
(3)  wAEErEE HEd (4) =g

Options :

53622815053. 1
53622815054. 2
53622815055. 3
53622815056. 4



Question Number : 90 Question Id : 5362283865 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Causal Studies’ in social research. refers to :

(1) design the effects of a cause

(2) analyse the cause and effect relationships
(3) determine the relationship between induction and deduction
(4) examine appropriateness of research design

Options :

53622815057. 1
53622815058. 2
53622815059. 3
53622815060. 4

Question Number : 90 Question Id : 5362283865 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) =W % THE H ATERY S
(2) U AN UHE % Al H Gvers w0

(8) =R F A % S ey A e

(4) o1 Afeg 1 ST 1 AT

Options :

53622815057. 1
53622815058. 2
53622815059. 3
53622815060. 4

Question Number : 91 Question Id : 5362283866 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following opposed Politics — Administration dischotomy?
(A) Classical School

(B) Public Choice theory

(C) Post-Modern School

(D) Critical theory

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (A)and (C) only
(3) (A) and (D) only (4) (B). (C) and (D) only
Options :

53622815061. 1
53622815062. 2
53622815063. 3
53622815064. 4

Question Number : 91 Question Id : 5362283866 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fAetetEs § ° FhEe T -TeEe 39T e e

(A) IEE fERgm

(B) = 999 HEH
(C)  F-amgl= fa=mum

(D)  ATEEATHE HE

(1) =9 (A) 31 (B) (2) == (A) 3 (O)

(3) A= (A) 3 (D) (4) === (B). (C) ¥ (D)
Options :

53622815061. 1
53622815062. 2
53622815063. 3
536228150064. 4

Question Number : 92 Question Id : 5362283867 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Scientific approach to Pubic Administratin is characterised by
(A) Unity of KEnowledge

(B) Mono disciphinarity

(C) Positivism

(D) Hermeneutics

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (A). (C) and (D) only (4) (A). (B) and (D) only
Options :

53622815065. 1
53622815066. 2
53622815067. 3
53622815068. 4

Question Number : 92 Question Id : 5362283867 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

&)  wEEd A

(B)  UFS ATETEEEAT
(C)  T=geEmEl
D) v HEEE

Hr= 2 et | B At I I 9

(1) F=F (A), B) 3 (C) (2 = (B), (C) ¥ (D)
3 A, (©) 3 D) (4 F (A). (B) 51 D)
Options :

53622815065. 1
536228150066. 2
53622815067. 3
53622815068. 4

Question Number : 93 Question Id : 5362283868 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of the ‘ideal type bureaucracy as propounded

by Max Weber?
(A) Officials are organised in a hierarchical order
(B) Legal authority
(C) Personal selected on the basis of class
(D) Administration a function on personnel obligation
Choose the most appropriate answer from the options given below :

(1) (A). (B) only
(2) {A). (C) only
(3) (A). (D) only

(4) (C). (D) only

Options :

53622815069.
53622815070.
53622815071.
53622815072.

AW N =

Question Number : 93 Question Id : 5362283868 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HFg Jo g1 TfAuTiEd 159 TE i Al 1 FEfenad 4 FiEE) G 7 e
(A)  SATeERIE = 9EMEA 4 Eisa 6 A 7
B)  Tafu= ==

(C) 1 % 34T T HIEE F 999 = 7 2

(D)  =aFFTa ZTEed % AR 9T T9TE wE FAT A
Hr o3 m farent | @ HE I g

(1)  =a= (A) 31 (B)
(2)  =Had (A) 3 (C)
(3) = (A) 31 (D)

(4)  FAe (C) FF (D)

Options :

53622815069. 1
53622815070. 2
53622815071. 3
53622815072. 4

Question Number : 94 Question Id : 5362283869 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s true of the approaches adopted by H.A. Simon in his book

“Administrative Behaviour™?

(A) Rationale and Normative approach

(B) Crtical approach

(C) Logical Positivist approach

(D) Positivist Empirical approach

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (D) only

(4) (A). (B) and (D) only

Options :

53622815073. 1
53622815074. 2
53622815075.3
53622815076. 4

Question Number : 94 Question Id : 5362283869 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



US.U. HIEHA g A T TSRS MEEET § 99T U S9EmE F G99 H AEned 8 9 54 96

¥

e

(A)  ATHF AR gE=FE 3997

(B)  ATeAr=HATHE 290

(C)  aifFFe Jea&Ene] ST

(D)  TeEEETE - FFEEaTE 397

(1) == (A) 77 (B)
(2) = (A) 37 (C)
(3) =« (B) 31 (D)

(4) === (A). (B) #7 (D)

Options :

53622815073. 1
53622815074. 2
53622815075. 3
53622815076. 4

Question Number : 95 Question Id : 5362283870 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following changes incorporated by the Prevention of Corruption (Amendment)
Act, 2018 are aimed at tightening up the existing provisions of the Prevention of Corruption
Act, 195887

(A) Defining 'undue advantages’ to mean any gratification other than legal remuneration
(B) Exempting corrupt acts committed out of compulsion but duly reported

(C) Requiring a sanction from competent authority to prosecute a public servant under this
Act

(D) Clarnfying the term commercial organisation to include all forms of business structures

Choose the correct answer from the options given below :

(1) (A, (B). (C) only
(2) (B). (C). (D) only
(3) (A). (B). (D) only
(4) (A, (C). (D) only

Options :

53622815077. 1
53622815078. 2
53622815079. 3
53622815080. 4

Question Number : 95 Question Id : 5362283870 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



geerEn Fan (genas sAfatEm, 2018 g FefafEs 9 9 %6 9 99eme = gw2En fFann atufm,
1988 = Ta=ra™ T/ =t T S S W T R 7
(A)  “3Tfad =9 i IRATTE 49 TRATEE 8 5a S Tare e we

B) fommagEs fee T weER e Fe, 5 ASiiad =y 3 sfeEtm w7, # g2 e

(C) =0 ATGFH=T & AaTd THEl o Ta® & 3r5d AT 7 TET Ta=RT 6 HaEd H1 TadH

(D)  =UEEIEE HE TE2 1 TIT T 3uH Y TN F SEaE 2 i e
e o1 feredl | © wE I g

(1) F=4 (A). B). (C)

(2) =4 (B). (C). (D)

(3) === (A), (B). (D)

(4) === (A). (C). (D)

Options :

53622815077. 1
53622815078. 2
53622815079. 3
53622815080. 4

Question Number : 96 Question Id : 5362283871 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In which of the following states. the Representation of Peoples Act, 1951 does not allow a
person to contest Lok Sabha election. if not registered as voter in that particular state?

(A) Dell

(B) Assam

(C) Lakshadweep

(D) Sikkim

(E) Uttarakhand

Choose the correct answer from the options given below :

(1) (A) and (E) only
(2) (B) and (D) only
(3)  (A). (C) and (E) only
(4)  (B), (C) and (D) only

Options :

53622815081. 1
53622815082. 2
53622815083. 3
53622815084. 4

Question Number : 96 Question Id : 5362283871 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fefefiga 7 & o= o= 9, 79 widfiaeg Afaf=m, 1951 % &0 95 FE =305 35 79 =909 5 gagm

F =7 4 USEd A8 # o 39 A% 91 F (ared d ueaneil w54 1 A 6 2 7

(A) =g
(B) =EH
(C) 5T
(D)  fafEm

(E) 3Wrgs

= T2 T e B wE I 9
(1) =3 (A) F0 (E)

(2)  =a= (B) # (D)

(3) === (A). (C) #A1 (E)

(4)  =Faw (B). (C) 37 (D)
Options :
53622815081. 1
53622815082. 2
53622815083. 3
53622815084. 4

Question Number : 97 Question Id : 5362283872 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The ‘Doctrine of Pleasure’ with regard to dismissal of civil servants enshrined in the Indian

Constitution has its origin in

{(A) The Common Law

(B) Rule in English Civil Service
(C) Spoil system in the U.S.A.
(D) Prussian Bureaucracy

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) {A), (C). (D) only

(4)  (B). (C). (D) only

Options :

53622815085. 1
53622815086. 2
53622815087. 3
53622815088. 4

Question Number : 97 Question Id : 5362283872 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT Hiaa 4 3fgiea EEe gew i sl O mEiad EeEe F wge (39 9 i) i
It A 7

(A) FEF

(B)  =frem fafae gan 4 faum

(C) 3.mA.1u. i oz TaEre (Tand) 1gH

(D) gioE =i A

Hr o ™ e ﬁﬂﬂﬁﬁﬁ_{ﬁ?
(1)  =a= (A) 37 (B)

(2)  Fa4 (C) 3T (D)

(3) & (A), (C) #T (D)

(4  F== (B). (C) =1 (D)
Options :
53622815085. 1
53622815086. 2
53622815087. 3
53622815088. 4

Question Number : 98 Question Id : 5362283873 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct regarding establishment of Lok Pal in India?

(A) Lok Pal 1s expected to be comprised of chairperson and members not exceeding six in

number

(B) A person who has been Chief Justice of India or Judge of Supreme Court 1s eligible to
be appointed as Chairperson

(C) Out of the total members, fifty percent are expected to be judicial members

(D) Half of the total memberships of Lok Pal are reserved for Scheduled Castes. Scheduled
Tribes, Other Backward Classes, Minorities and Women

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (B). (C) and (D) only
(3) (C). (D) and (A) only

(4) (B) and (C) only
Options :
53622815089. 1
53622815090. 2
53622815091. 3
53622815092. 4

Question Number : 98 Question Id : 5362283873 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A H AT ] TAET F qE A HE H Y TE A T

(A) =TT H U SEE N SR 9 e WEeE W B SO 2

(B) iz = W 9N 1 HEA A A1 I=EaE e H AEEE w2, A9E '9 1§ e A
FH F U 7

(C) =t BEEAl | T=E Tiawia = HeE wE =)

(D) I F e AEE A OH A Wl 98 SIHAd S0, SEEea s, 39 mws wm,

= fo ™ el 8§ § w9 I g
(1) == (A). (B) =7 (C)
(2) a4 (B), (C) 317 (D)

(3)  F== (C). (D) 311 (A)

(4) A (B) 3R (C)
Options :
53622815089. 1
53622815090. 2
53622815091. 3
53622815092. 4

Question Number : 99 Question Id : 5362283874 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following 1s correctly listed in the compulsory provisions of the 73w

Constitutional Amendment Act?

(4) Each state to set up a State Finance Commission every five vears

(B) Tenure of PRI's 1= fixed at five years

(C) Voting rights to the members of the Union and the State Legislature in local bodies
(D) Organisation of Gram Sabha

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A). (B) and (C) only
(3) (B). (C) and (D) only

(4)  (A). (B) and (D) only

Options :

53622815093. 1
53622815094. 2
53622815095. 3
53622815096. 4

Question Number : 99 Question Id : 5362283874 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fferfiga § @ #9973 9 Hiaas gends AfuEE F SEE Iuey 59 o 9 gEieg e o a7

(A) T A B UTE 99 W UF 754 T SAEET 6

(B) U=l T e (9.3, A, ) U F9 w s [ e

(C) =g/ FerEl 4 99 310 =% Agmaveet F 52 F qagH 1 A 7
(D) = TEH A

H= o T et | O WA I 9

(1) =&« (A) @1 (B)

2 A4 (A), (B) ¥ ()

3  #Ad (B), (C) 31 (D)

(4)  F== (A). (B) 37 (D)

Options :

53622815093. 1
53622815094. 2
53622815095. 3
53622815096. 4

Question Number : 100 Question Id : 5362283875 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following are the features of ‘clect’ according to Fred Riggs?
(A) It is a typical prismatic group

(B) It makes use of traditional associational methods of organisation

(C) Itisretaining diffuse and particularistic goals of a transitional type

(D) It always makes efforts to gain power for protection of public interest
Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D} only

(4)  (A) and (C) only

Options :

53622815097. 1
53622815098. 2
53622815099. 3
53622815100. 4

Question Number : 100 Question Id : 5362283875 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



%5 e F AgER Fore 1 Rt 5 e e #

(A)  T= U% TAHGZEE T9F 7

(B) T Ia4 i TR HEgedEe el 1 39 AT A
(C) == Haila® TR % a3 3=t = 1 9w e e 2

(D) == TF e % FEE =g T T FH T TAE A A

= foa = fawedt | 1w = 96

(1) &= (A) 97 (B)
(2) === (B) 37 (C)
(3) == (C) 3 (D)

(4)  Fa= (A) FE(C)

Options :

53622815097. 1
53622815098. 2
53622815099. 3
53622815100. 4

Question Number : 101 Question Id : 5362283876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are not true about the National Personnel Agency of

the Government of Japan?

(A) It is known as National Personnel Authority

(B) It i1z administered by three Commissioners

(C) The Commissioners are appointed by Prime Minister in consultation with the cabinet
(D) The term of the office of the Commissioners is five year

Choose the correct answer from the options given below :

(1) {A) and (B) only
(2} (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only

Options :

53622815101. 1
53622815102. 2
53622815103. 3
53622815104. 4

Question Number : 101 Question Id : 5362283876 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HIH TERE o TEE FHE ATHH F qay J Feihd 4 9 ®H-9 9959 901 781 2 7
(A) =H 9T THAE AU F B J A= A R

(B) 5T TOTEA fH SATH gET R I A

(©) =g e waEef gm dfmse % we & S A

(D) AR % 92 T EEEE 9 g9 A A

i 22 = fawedt A4 1w T g

(1) === (A) 37 (B)
(2) =&« (B) 317 (C)
(3)  FF= (C) 3T (D)

(4)  =a« (A) 377 (D)

Options :

53622815101. 1
53622815102. 2
53622815103. 3
53622815104. 4

Question Number : 102 Question Id : 5362283877 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following are true about the Comparative Public Administration?
{A) It 1scross cultural, cross institutional. cross-national in nature

(B) It has helped to eliminate the narrowness of provincialism and regionalism
(C) It 1is practioner oriented

(D) It attempts to seek knowledge for the sake of knowledge

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only
(2) (B). (C) and (D) only
(3) (A). (B) and (D) only
(4) (A), (C) and (D) only

Options :

53622815105. 1
53622815106. 2
53622815107. 3
53622815108. 4

Question Number : 102 Question Id : 5362283877 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AR A TATHA F TEd 0 Heiid § 8 F-74 TE 8 7

(A)  TF WHEERGE, T-HEATEF AR WA TEH A

(B) TEA WAAR N &S i HHA % T H HEEdal U9 H A
(C) = THITHA-ZE F |

(D) T= F9 9 % a0 9 WH w1 =Ear 2

(1)  FF4 (A). B) ¥R (C)

(2) == (B). (C) 3T (D)

(3) =& (A). (B) 1 (D)

(4)  Fa9 (A). (C) =1 (D)

Options :

53622815105. 1
53622815106. 2
53622815107. 3
53622815108. 4

Question Number : 103 Question Id : 5362283878 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following features belongs to Agrarian Society as mentioned by Fred
Riggs?

(A) Attainment values. open pattern, low spatial mobility and complex social stratification
(B) Asecriptive values, open pattern, high spatial mobility and complex social stratification
(C) Ascriptive values, close pattern. low spatial mobility and simple social stratification
(D) Attainment values. close pattern. high spatial mobility and simple social stratification
Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (D) only
(3) (C) only

(4) (A) and (D) only

Options :

53622815109. 1
53622815110. 2
53622815111.3
53622815112. 4

Question Number : 103 Question Id : 5362283878 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  STHUIE go4, HF UGEM, HeT T T S Sl JEias S|
(B)  #WIUA 94, e WidaH, I=1 Tu1f% Tiaeierdr 31 Fiza AT |
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e o T faEedt | F R I g

(1)  =a= (A) @1 (B)
(2) === (B) 37 (D)
(3) T4 (C)

(4)  FaE (A) FR (D)
Options :
53622815109. 1
53622815110. 2
53622815111. 3
53622815112. 4

Question Number : 104 Question Id : 5362283879 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following programmes are a part of the financial inclusion program?
(A) Pradhan Mantri Jan Dhan Yojana

(B) Atal Pension Yojana

(C) Mudra Yojana

(D) Pradhan Mantri Suraksha Bima Yojana

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4) (B) and (D) only

Options :

53622815113. 1
53622815114.2
53622815115.3
53622815116. 4

Question Number : 104 Question Id : 5362283879 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAeTialiga | ® 1A H HEEA [ SEEE B T R
(A)  THEE S-G9 T

(B)  ¥=e U9 A

(C) w1 =T

(D) U HOET S AT

Hi=r foa m faeent 1 B waita s I g

(1) a4 (A) 37 (B)
(2)  FFa (B) 37 (C)
(3) =& (A) 3T (C)

(4) === (B) #i (D)

Options :

53622815113. 1
53622815114. 2
53622815115.3
53622815116. 4

Question Number : 105 Question Id : 5362283880 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The main objectives of Multi-Unit Company form of organisation are :
(A) Pooling of various resources

(B) Decentrahsation

(C) Uniformity in Policies

(D) Self sufficiency in Research and Development

Choose the correct answer from the options given below :

(1) {A), (B)., (C) and (D) only
(2) (A). (B) and (C) only
(3) (A), (B) and (D) only

(4) (B). (C) and (D) only

Options :

53622815117. 1
53622815118. 2
53622815119. 3
53622815120. 4

Question Number : 105 Question Id : 5362283880 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T & a?i—srm:% FIAT TR F G F299 7 o
(A)  Tafaw goree F1 uwEw

B) frwEEm

(C) === it

(D) Y AT FEm § F-HEa

+r= fo7 ™ fawedt 5 @ 78 I 9

(1)  F== (A). B). (C) 31 (D)

(2)  FaA (A). (B) #17 (C)

(3) === (A), (B) 51 (D)

(4)  Fa« (B). (C) w1 (D)

Options :

53622815117. 1
53622815118. 2
53622815119.3
53622815120. 4

Question Number : 106 Question Id : 5362283881 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“The WNational vision is to build a safer and disaster resilient India by developing a holistic.
proactive, multi-disaster and technology driven strategy for Disaster Management”. This

statement 1s given by

(A) High Powered Committee, 1999

(B) The National Committee on Disaster Management. 2002
(C) National Disaster Management Authority, 2005

(D) National Policy on Disaster Management, 2009

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (D) only
(3) (C) only

(4) (A), (B). (C) and (D) only

Options :

53622815121. 1
53622815122. 2
53622815123.3
53622815124. 4

Question Number : 106 Question Id : 5362283881 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) =a9 (A) 377 (B)
(2) === (B) 317 (D)
(3)  =EE (0)

(4) === (A). (B). (C) 7t (D)

Options :

53622815121. 1
53622815122.2
53622815123.3
53622815124. 4

Question Number : 107 Question Id : 5362283882 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about the National Commission for Backward

Classes?

(A) It came in to existence in the year 1983

(B) Its functions are mainly in the nature of mandatory one

(C) The 1dea of such a body was explicitly provided for in the Constitution under
Article 340 (1)

(D) It 1s designed to be a quasi-judicial expert body to act as the feeding agency to the

Central Government

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) only
{(B) and (C) only
(C) and (D) only
(A) and (D) only

Options :

53622815125. 1
53622815126.2
53622815127. 3
53622815128. 4

Question Number : 107 Question Id : 5362283882 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) F== (A) 58 (B)
(2)  FF= (B) A7 (C)
(3)  Fa= (C) ¥ (D)

(4)  FA (A) T (D)
Options :

536228151251
53622815126. 2
53622815127. 3
53622815128. 4

Question Number : 108 Question Id : 5362283883 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following states are covered with regard to the administration and control of
scheduled areas and scheduled tribes under the Sixth Schedule of the Indian Constitution?

(A) Mizoram

(B) Tripura

(C) Manipur

(D) Meghalaya

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B), (C) and (D) only
(4) (A). (C) and (D) only

Options :

53622815129. 1
53622815130. 2
53622815131.3
53622815132. 4

Question Number : 108 Question Id : 5362283883 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A TiAaE i B3 AT F A9F TFEET G SR g e F e 3 e F aeg 5

FiF T ETeNgd TS STesTed 7l B 7

(A) TfaEmm
B Fa
(C) =i
(D) =EA

F f T Ree § @ wA T SR
(1) =39 (A). (B) 91 (C)
(2)  FF9 (A), (B) w7 (D)
(3) =&« (B). (C) #F (D)

(4)  FE= (A). (C) 37 (D)

Options :

53622815129. 1
53622815130. 2
53622815131. 3
53622815132. 4

Question Number : 109 Question Id : 5362283884 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Amital Etziomi's Mixed Scanning approach tries to explicitly combine :
(A) A High order fundamental policy making process which sets basic direction
(B) Combine Core elements of the rational with non-rational factors

(C) Incremental one which prepares for fundamental decisions and work them out after

they have been reached
(D) Stricter Control of the bureaucrates through legislature and increasing the competition
Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4) (A) and (D) only

Options :

536228151331
53622815134.2
53622815135.3
53622815136. 4

Question Number : 109 Question Id : 5362283884 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HAEATE vt A WmidE frewoness 2iesm § Tear & @Y gisiod w0 F 9EE

(&) = T gorgd it fAam afwEr = g fenfem 7= w2
(B) o WA 9 dcal  FEG G2 & WY BT AT

(D) T = 9198 © SEE 1 el HEE A Taeral S|
e 21w fawedt 1 O wE I e

(1)  =aw (A) 371 (B)

(2)  =ae (B) 37 (C)

(3) A= (A) HF (C)

(4) I (A) # (D)

Options :

53622815133. 1
53622815134.2
53622815135.3
53622815136. 4

Question Number : 110 Question Id : 5362283885 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the objectives of policy evaluation?

(A) Setting preferences and political goals

(B) Assessing pohicy efficiency

(C) Understanding policy impact

(D) Executing course corrections in implementation

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

{(4) (A), (C) and (D) only

Options :

53622815137. 1
53622815138.2
53622815139. 3
53622815140. 4

Question Number : 110 Question Id : 5362283885 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  WAEFA AN TS 329hl e
(B) i = T T ATHA

(C)  ifd % w9 H gE=E

(1) a9 (A) 37 (B)

(2) === (B) 317 (C)

(3)  =aw (C) 37 (D)

(4) A (A), (C) 3 (D)

Options :

53622815137. 1
53622815138.2
53622815139. 3
53622815140. 4

Question Number : 111 Question Id : 5362283886 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following are true regarding the features of responsive administration?
(A) It is a political concept and carries a definite connotation

(B) It 13 a micro-level concept deriving its credibility and validity from the delivery system

of a country’'s Public Administration
(C) It explicitly aknowledges the citizen-sovereignity in administrative dealings

(D) It is an apparently moral concept in Public Administration

(1) (A), (B) and (C) only (2) (B}, (C) and (D) only
(3) (A), (B) and (D) only {(4) (A). (C)and (D) only
Options :

53622815141. 1
53622815142.2
53622815143.3
53622815144. 4

Question Number : 111 Question Id : 5362283886 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  TE TF TSANTE AT 7 T T 0F gHvEd A9 2

(B) == UF gEW WA daanen 2 el oma s 39 3 % @ vened # afes e § e
=l 7

(C) =% WoHiF 4 Fgal °§ AFH-FTHAT i I8 =9 ° =T H 2

A 23 ™ fabedt § W wE e g
(1)  F= (A). (B) 5 (O)
(2) === (B), (C) A (D)

(3) A (A), (B) #7 (D)

(4)  =Fa (A). (C) w7 (D)

Options :

53622815141. 1
53622815142. 2
53622815143.3
53622815144. 4

Question Number : 112 Question Id : 5362283887 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following are correct statement about the Competition Commission of
India?

(A) It was established on 15™ August, 2003
(B) Dharmendra Kumar was its first chairman
(C) Itis a statutory body of the Government of India

(D) It 1s responsible to prevent activities that have an appreciable adverse effect on

competition in India

(1) (A) and (B) only
(2) (B) and (C) only
(3 (C) and (D) only

(4) (A). (B) and (D) only
Options :
53622815145. 1
53622815146.2
53622815147. 3
53622815148. 4

Question Number : 112 Question Id : 5362283887 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



i wieerg! s % gey § frofefag § 9 %9 @ w5y i 37

(A)  THFH TOAT 15 A, 2003 T EE A
(B) = FAW HF UYH I 9
(C) % 9RA TR &1 TF HiEia® e 2

(D) T& A TFEmAT F AR F v sEeE ¢ TS 9Wa ° Tiaegl WO Uagd T9E

=T 2

= f27 o fapedl O @ T ToE I e

(1)  Fa« (A) 97 (B)
(2) == (B) #7 (C)
(3) %4« (C) ¥ (D)

(4)  FI9 (A). (B) w7 (D)

Options :

53622815145. 1
53622815146. 2
53622815147.3
53622815148. 4

Question Number : 113 Question Id : 5362283888 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are correct about stratified random sampling?
(A) Drawn from the population which does not constitute homogeneous groups.
(B) Population is divided into a number of overlapping sub-populations or strata

(C) Items are selected from each sub-population by adopting simple random sampling

procedure

(D) Selection of groups are preferred rather than individual element

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (C) only
Options :
53622815149. 1
53622815150. 2
53622815151.3
53622815152. 4

Question Number : 113 Question Id : 5362283888 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fre=Ateaiiad | © 98 59 THHd TErea® Tiaael & 91 8 HAl A 7

(A) 9 FEEEE © o T, T w96 2

(B)  FHEEN 3T A A 9 S-S 91 W 8 gaad 2

(C)  =Tany TEfe Uiaae TS FT e 30 STEE O 931 % 99 PR A R

(D)  =IFFTA ded o S FHE & 99 S Ear o =@l 2
Hr= fz7 ™ fawedt 5 @ w9 = 96

(1) === (A) 317 (B)

(2) == (B) W7 (C)

(3) =& (C) 3R (D)

(4  FA9 (A) 3 (C)

Options :

53622815149. 1
53622815150. 2
53622815151. 3
53622815152. 4

Question Number : 114 Question Id : 5362283889 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are measures of central tendency?

(A) Median
(B) Mode
(C) Standard Dewviation

(D) Harmoniec Mean

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2) {A). (B) and (D) only
(3) (A). (C) and (D) only

(4) (B). (C) and (D) only

Options :

53622815153 1
53622815154.2
53622815155.3
53622815156. 4

Question Number : 114 Question Id : 5362283889 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefetad § & F=A Tafd % %6 3 09 27
(A) e

B) wEE

e

(C) O &=

(D) EICOE H1E9
i o o fawedt ¥ w9
(1) == (A). (B) 317 (C)
(2) == (A). (B) A7 (D)
(3)  Fae (A). (C) 77 (D)
(4)  F=9 (B). (C) ¥ (D)
Options :
53622815153. 1
53622815154. 2

53622815155.3
53622815156. 4

Question Number : 115 Question Id : 5362283890 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about multi-stage random sampling?

(A)
(B)
(C)
(D)

It 1s considered as the development of 1dea of cluster sampling
It 1s used for big inquiries extending to a considerable large georaphical area.
A sampling unit like states or districts etc are selected at the first stage

The technique of applying random sampling 1s applied only at the last stage 1.e while

selecting the individual elements.

Choose the correct answer from the options given below:

(1)
(2)
(3)

(4)

Options :

53622815157.
53622815158.
53622815159.
53622815160.

(A). (B) and (C) only
(B). (C) and (D) only
(A). (B) and (D) only
(A). (C) and (D) only

B W N~

Question Number : 115 Question Id : 5362283890 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAfeEs § & FF0 T2 S5-TE TReo® Taae & a9n § JE A ¢
(A)  TEF A=A TaE G99 F O FEE F =T T g e
(B)  sHE I9AM faaTia Afd-Tgene Siiers 49 § gag 99 & o0 T S A

(C) T Wiagelt =912, S9-T=9 =1 Ft 302 1 799 =01 ° =99 R 9 2

(D) = Efeo® Uidesl qoATF 1 hae Al =00 A A S R A6 2 - AAT SA Aol

¥
<4

=94 Fd 999 |
Hr= T2 ™ faweal § @ wE = 96

(1) === (A). (B) #17 (C)
(2) &= (B), (C) # (D)
(3) T (A). (B) #7 (D)

(4) == (A). (C) =T (D)

Options :

53622815157. 1
53622815158.2
53622815159. 3
53622815160. 4

Question Number : 116 Question Id : 5362283891 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Iast I with List IT

(A)
(B)
(C)

(D)

ListI
Developments 1n Public Admimstration
New Public Administration
New Public Management

Thoeries of Public Governance

Comparative Public Administration

(D
(ID
(I1D)

(IV)

List IT
Features

Reduction in functions of government
through outsourcing

Socio-cultural context of development
in different countries

Normative and client oriented

Involvement of civil soclety and
network of agencies to deliver public
services.

Choose the correct answer from the options given below:

() (A1, (B)-II). (C)-(II). (D)-(IV)

(2) (A)-(IV). (B)-(I1I). (C)-(II).(D)-(I)

(3) (A)-(III). (B)-(I). (C)-(IV), (D)-(II)

(4) (A)-(IT). (B)-(I1I). (C)-(I). (D)-(IV)
Options :

53622815161. 1
53622815162. 2
53622815163.3
53622815164. 4

Question Number : 116 Question Id : 5362283891 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



== I 1 gt 11 W19 gofed Hifae

=1 o= 11

(FrF T ° ufEdd) (Tarfaram)
(A) 9 = 99T @ =3z T % WeIs o TR % HE H
(B) =9 =k TEEA (ID faa-fam Zo & T & A SR

(C) % ImeA & g (IIT) e 31T aresh-3gdi
(D) d=HeHS =A% TOIEE (IV) =EFHF U0 Y8H #0 F [0 ATE-H0TH

Hr= 21 = oot @ 9 wE 3 g

(1) (A)-(I). (B)-(III). (C)-(IL). (D)-(IV)
(2)  (A)-AV). (B)-(IID), (C)-(1D.(MD)-(I)
(3)  (A)-AID). (B)-dD). (C)-(IV). (D)-(II)
(4  (A)-ID. (B)-(ID). (C)-(D). (D)-AV)

Options :

53622815161. 1

53622815162.2

53622815163.3
53622815164. 4

Question Number : 117 Question Id : 5362283892 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with Last IT

Last I Last I1
Authors Concepts
(A) Chester Barnard (I  Maturity-immaturity theory
(B) Rensis Likert (II) Mega and Meta policy
(C) Yehezkel Dror (III) Linking Pin
(D) Chris Argyris (IV) Zone of Indifference

Choose the correct answer from the options given below:

(1) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)
(2) (A)-(IV). (B)-(I1I). (C)-1D.(D)-(T)
(3) (A)-(ID), (B)-(I). (C)-(IID), (D)-(IV)
(4) (A)-(I). (B)-(1ID). (C)-(IV). (D)-(I1I)

Options :

53622815165. 1

53622815166. 2

53622815167.3
53622815168. 4

Question Number : 117 Question Id : 5362283892 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt T =1 g=it 11 % g1y gafaq o

il o= 11
(Fra) (Zraramo)
(A) == AEE (D) iR g
(B) ifaw fere (ID) ==1 #AR Al Hifa (3 #HiT Hq21 et
(C) e SH (IID) fearsrm o=
(D) ToFE wERE (IV) FerEman v

Hra T2 T fasewl § @ wE 3 g

(1)  (A)-IID. (B)-(IV). (O)-(D). (D)-(ID
(2) (A)-IV). (B)-(I1L), (C)-(ID).(D)-(T)
(3) (A)-(ID). (B)-(D. (C)-(IID). (D)-(IV)
(4) (A)-(I). (B)-(ID). (C)-(IV). (D)-(IIT)

Options :

53622815165. 1
53622815166. 2
53622815167. 3
53622815168. 4

Question Number : 118 Question Id : 5362283893 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

Last I Last IT
Name of Zila Parishad States
(A) Mahakama Parsad (Il Andhra Pradesh
(B) District Development Counecil (IT) Assam
(C) Zila Praja Parizshad (III) Gujarat
(D) District Panchayat (IV) Tamil Nadu

Choose the correct answer from the options given below:

(1) (A)-AD. (B)-(IV). (C)-(I), (D)-(I1T)
2 (A)-aV), (B)-I). (C)-IID).(D)-(T)
(3)  (A)-AV). B)-D. (C)-ID. (D)-(III)
@  (A)-@. B)-IID), (C)«IV). (D)«II)

Options :

53622815169. 1
53622815170.2
53622815171.3
53622815172. 4

Question Number : 118 Question Id : 5362283893 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o=t I =1 g1 11 & @19 geied it
LN T 11
(forem witag =7 =19) (=)
(A) AFF TR (@ 319 7=
(B) e fama iy an s
(C) T v ity (III) ==
(D) e e V) AT

= 52 T faweg % 9 T8 e g

() (A-AD. (B)-(IV). (C)-(I). (D)-(I1T)
(2)  (A)-(IV). (B)-(II). (C)-(IID.(D)-(T)
(3)  (A-AV). (B)-(I). (O)-(I). (D)-(ILI)
4 (A)-@. B)-(II), (C)-AV), (D)-II)



Options :

53622815169. 1
53622815170. 2
53622815171. 3
53622815172. 4

Question Number : 119 Question Id : 5362283894 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

List I List II
Constitutional Body Article
(A) State Election Commision (I}  Article 243-1
(B) State Finance Commision (II) Article 243-K
(C) District Planning Commitee (III) Article 243 2D
(D) Metropolitan commitee (IV) Article 243 2E

Choose the correct answer from the options given below:

(1) (A)-@). B)-(1D. (O)-(IID). (D)-AV)
(2) (A)-(ID). (B)-(I). (C)-(I1I).(D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(I). (D)-(ID)
(4) (A)-(IV), (B)-(III). (C)-(ID), (D)-(I)

Options :

53622815173. 1
53622815174.2
53622815175.3
53622815176. 4

Question Number : 119 Question Id : 5362283894 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 1 T I e g e

=il | o=t 11
(Tt ) (eT=as)
(A) =g fAam=a amEm @) =0 243~
(B) =g fam wmm ) ¥3=32 243-F
(C) T5=1 == =g (III) == 243-2%
(D) HEAT BT (IV) = =2% 243-2%
H= f2g 7 faseat 5 @ wd 3 g

(1) (A1), (B)-II). (C)-(IIT). (D)-(IV)
(2)  (A)-ID. (B)-(D. (C)-(I11).(D)-(IV)
(3) (A, (B)-V). (C)-(I). (D)-(II)
(4)  (A)-AV), (B)-(IID). (C)-(ID), (D)-(I)

Options :

53622815173. 1
53622815174.2
53622815175.3
53622815176. 4

Question Number : 120 Question Id : 5362283895 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

Last I Last IT
(A) Social Equity (I) Clects
(B) Cross-cultural administrative study (II) Sala
(C) Social groups in developing society (IIT) Comparative Public Administration
(D) Adminmistrative sub system in (IV) New Public Administration

Developing Countries

Choose the correct answer from the options given below:

(L (A)-AV). (B)-(1I). (C)-(). (D)-(II)
(2) (A)-(D). (B)-(ID). (C)-(IV).(D)-(III)
(3)  (&)-). (B)-AV). (C)-(ID). (D)-(I)
(4 (A)-ID. (B)-(IV), (C)-(D). (D)-(I1I)

Options :

53622815177. 1

53622815178.2

53622815179. 3
53622815180. 4

Question Number : 120 Question Id : 5362283895 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt 1 %1 gt [T & @09 gied =i

T = 1T
(A) FEIF T (D Feiwed
(B) TO-HEAFGH TOEAT ST (II) =T
(C) Terrmsiier TaTs o WETF T8 (IIT) T=ATeF AT T
(D) faermeeiiet 2on 4 wonaiT Iu-sgaw (IV) == =76 T9EA
Hr= T3 7 fawedt @ @ @@ 3 g9

(1)  (A)-IV). (B)-(III). (C)-ID). (D)-(II)
(2)  A-D. B)-ID). (C)-(IV).(D)-(III)
(3)  (A)-dID), (B)-(IV), (C)-1I),. (D)-(I)
(4 (A)-I). (B)-(IV). (C)-(I). (D)-(I1L)

Options :



53622815177. 1
53622815178. 2
53622815179. 3
53622815180. 4

Question Number : 121 Question Id : 5362283896 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Matech ILast I with List IT

List I
Approach
(A) Bureacratic
(B) Behavioural

(C) General system

(D) Ecologieal

(D)
(I)

(I1T)

(IV)

List IT
Feature
Agraria, Transitia, Industria

Administrative system as a sub
system 1n the society

Analysis of human behaviour 1n
administrative setting

Legal Rational Authority

Choose the correct answer from the options given below:

(1) (A)-(IV). (B)-(I). (C)-(I1I). (D)-(II)
(2) (A)-(I). (B)-(ID). (C)-(I1).(D)-(IV)
(3)  (A)-IID. (B)-(I). (C)-(IV). (D)-(IL)
(4) (A)-(IV), (B)-(I1D). (C)-II). (D)-(D)

Options :

53622815181. 1
53622815182.2
53622815183. 3
53622815184. 4

Question Number : 121 Question Id : 5362283896 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



=i I =1 = I1 % @1y gfed Fifae

g I o= 1T
(zarm) (feraran)
(A) i - @  Fw, i, S
(B) =EEnTeT (I) &OT § UF I9-UONEA F FT § TOEAS
et
(C) T ToTE (ITL) ToTTETe =awd] | §iE =0ass] = &
(D) TR (IV) Fa-Toamger miaHn

= 51 ™ fawew § F wE I g

(1) (A)-IV). (B)-(D. (C)-(I1I), (D)-(IT)
@  (A)-D. B)-ID). (C)-III).(D)-IV)

(3) (A)-IID). (B)-(I). (C)-(IV), (D)-(II)
(4)  (A)-@V). (B)- (II), (C)-(IT). (D)-(D)

Options :

53622815181. 1
53622815182.2
53622815183. 3
53622815184. 4

Question Number : 122 Question Id : 5362283897 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I with List IT

ListI Last IT

Name Area
(A) Raja Chellaiah (I) Public-Private Partnership
(B) Vyay Kelkar (I) Tax Reforms
(C) P.L Tandon (IIT) Financial Sector Reforms
(D) M. Narasimhan (IV) Working Capital

Choose the correct answer from the options given below:

(1) (A)-@). (B)-(ID). (O)-(IIL). (D)-IV)
2)  (A)-aD). (B)-(I). (C)-IV).(D)-(I1I)
(3) (A)-IID), (B)-(IV). (C)-(@), (D)-(II)
(4) (A)-(IV), (B)-(D). (C)-(ID. (D)-(I1I)

Options :

53622815185. 1

53622815186. 2

53622815187. 3
53622815188. 4

Question Number : 122 Question Id : 5362283897 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

== I =1 = 11 % 719 gafee e

T 1 Tt 11
(AT} {_p;ﬁr:,
(A)  T= =W (D)  wE=EE- T e
(B) a7 Feime 1) == =uw
(C) wi.ue. =4 (IIT) fafia &= g
(D) ©H. TEEA (IV) =i o=
Hr= f27 ™ faew @ @ w5 T g

(I (A-D. (B)-(ID). (O)-(IID. (D)-IV)
(2)  (A)-ID. (B)-(I). (C)-(IV).(D)-(III)
(3) (A1), (B)-(IV). (CO)-1). (D)-(II)
(4) (A)-(IV). (B)-(I). (C)-1I). (D)-(III)



Options :

53622815185. 1
53622815186. 2
53622815187. 3
53622815188. 4

Question Number : 123 Question Id : 5362283898 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with Last IT

Last I Last I1
Article Provisions
(A) Article 273 (I} Compensatory Grants
(B) Article 275 (I) Fiscal Need Grants
(C) Article 275 (1) (III) Grants for development of Tribal
Regions
(D) Article 282 (IV) Diseretionary Grants

Choose the correct answer from the options given below:

(1) (A4)-@). (B)-(I1D). (C)-(ID. (D)-(IV)
(2) (A)-dD). (B)-(I). (C)-(I1T).(D)-(IV)
(3) (A)-(III). (B)-(IV), (C)-(D), (D)-(IT)
(4) (A)-(AV). (B)-(D. (C)-(II). (D)-(I1I)

Options :

53622815189. 1
53622815190. 2
53622815191. 3
53622815192. 4

Question Number : 123 Question Id : 5362283898 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=1 I 1 5= I % 09 gafed Hifa

T I = 11
(377=2) (3o )
(A) ¥F=R 273 () wfys s A
(B) 313@ 275 (II) IR IEFE Tl AT
(C) aF=27 275 (1) (IIT) =F=Td &61  faFm # foo omEe
(D) =37 282 (IV) faedia sEm

e 27 T faedl B H wA I g

(1) (A)-@. B)-(ID), (C)-(ID), (D)-AV)
(2)  (A)-AD. (B)-(D). (C)-(II).(D)-(IV)
(3)  (A)-AID. (B)-AV). (O)-@). (D)-II)

(4) (A)-IV). (B)-(D. (C)-D. (D)-(IIL)

Options :

53622815189. 1
53622815190. 2
53622815191. 3
53622815192. 4

Question Number : 124 Question Id : 5362283899 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT

(A) Article 330 () Reservation of seats and special
representation to cease after seventy
vears

(B) Article 334 (II) Reservation of seats for SCs/STs 1n the
House of People

(C) Article 340 (III) Scheduled Tribes

(D) Article 342 (IV) Appointment of a commision to
investigate the conditions of backward
classes

Choose the correct answer from the options given below:

(1)  (A)-@). B)-(ID. (C)-(IIL). (D)-(IV)
@  (A)-aD. (B)-ID. (C)-IV).(D)-(D)
3 (A)-AID. B)-AV). (O)-@. (D)-ID)
@ (A)-aD. (B-D. (O)-IV). D)-ID

Options :

53622815193. 1

53622815194. 2

53622815195. 3
53622815196. 4

Question Number : 124 Question Id : 5362283899 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I 1 gt 11 & W79 gafea S

T I

(A) =32 330
(B) #T=93 334

(C) =7=% 340

(D) #T==8 342

(1) (A)-(D. (B)«IL). (C)-(III). (D)-(IV)
(2)  (A-AD. (B)-(I). (C)-IV).(D)-(I)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
4  (A)-AD. (B)-(D. (C)-IV), (D)-(III)

Options :

53622815193. 1

53622815194.2

53622815195.3
53622815196. 4

7= 11
(D) TaH =+ AFm AJ6 T e # a
T = TTE Al T

(II) = =9 # FEgEd Aiadr/ @9gEd
SAANGA] & o0 T F AR
(D) sFga S

Question Number : 125 Question Id : 5362283900 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
Author Concepts
(A) James March and Herbert Simon () Incrementalism
(B) William Niskanen (II) Bounded Rationality
(C) Charles Lindblom (III) Rational Comprehensive Decision
(D) Yehezkel Dror (IV) Public Choice Thoery

Choose the correct answer from the options given below:

()  (A)-IV). (B)-(III). (C)-(D), (D)-(IT)
(2) (A, (B)-ID). (C)-(IV).(D)-(I)
(3) (A)-(ID). (B)-(D). (C)-(II). (D)-(IV)
(4)  (A-AD. (B)-(IV). (C)-(I), (D)-(I1I)

Options :

53622815197. 1
53622815198. 2
53622815199. 3
53622815200. 4

Question Number : 125 Question Id : 5362283900 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o=t [ 1 gt I % =19 gefer Fifse
Tl =T 11
(v (=)
(A) wH 9 HE 7= HEEA (D)  =aeaEE (=R )
(B) TafeEm fewrA (I) =faa ATl
(C) = Terzeam (IIT) Tfer g Ao
(D) #=Fa 3R (IV) =% ==+ fazrd

= o2 7 foredl ° ° wE I g

(L (A)-IV). (B)-(I1D). (C)-(), (D)-(I)
(2) (AL, (B)-ID. (O)-IV).(D)-(D)
(3) (A, (B)-(I). (C)-(II), (D)-(IV)
(4 (A-AD. (B)-(IV). (C)-(I). (D)-(IIT)

Options :



53622815197. 1
53622815198. 2
53622815199. 3
53622815200. 4

Question Number : 126 Question Id : 5362283901 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the developments in Public Administration in the chronological order.

(A) Public Administration as management
(B) Politics—admimistration dichotomy
(C) New Public Management

(D) Public Governance

Choose the correct answer from the options given below :

(1) (B). (O). (A). (D)
(2) (B). (D), (A). (C)
(3) (B). (A). (C). (D)
(4) (A). (B). (D). (C)

Options :

53622815201. 1
53622815202. 2
53622815203. 3
53622815204. 4

Question Number : 126 Question Id : 5362283901 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ATH TAEA § et IiagAl #i weEEEEE IR i

(A) UEEH % B9 H SF TUEA
(B)  TIHAIG-TEA 39T
(C) 3 =rF wagA

(D) = WEA
< T3u o fasheat | | wE I g

(L B). (0. A). D)
(2) (B). (D). (A). (C)
(3)  (B). (A). (0). (D)
(4)  (A). (B). (D). (C)

Options :

53622815201. 1
53622815202. 2
53622815203. 3
53622815204. 4

Question Number : 127 Question Id : 5362283902 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the ascending order of ‘Need hierarchy’ of Abraham Maslow'?

(A) Esteem needs
(B) Physiological needs
(C) Belonging needs

(D) Self-actualization

Choose the correct answer from the options given below :

(1) (A). (B). (C). (D)
(2) (A). (D). (B). (C)
(3) (B). (C). (A). (D)

(4) (B). (A). (C). (D)

Options :

53622815205. 1
53622815206. 2
53622815207.3
53622815208. 4

Question Number : 127 Question Id : 5362283902 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) T e wETIEaE

(B) AT AFTTFaE

(C) AT ST FEdl SAEvTHA
(Dy  =Aa-TaTg

= f2m o fawegt § 5 96 3 g9

(1) (&), (B). (C). (D)
(2) (A, D). (®B).(C)
(3) (B (C). (A). (D)

(4) (B). (A4). (C). (D)

Options :

53622815205. 1
53622815206. 2
53622815207. 3
53622815208. 4

Question Number : 128 Question Id : 5362283903 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the chronological order:

(A) Report of Survey on Public Administration in India
(B) Report of the Commitee on the Reorganisation of the Government of India

(C) Economic Reforms Commision Report

(D)  Report of Satish Chandra Commitee on Recruitment Procedure for Higher Civil

Service

(E) Report of the Committee on the Prevention of Corruption

Choose the correct answer from the options given below :

(1) (B). (A). (E), (C). (D)
(2) (E). (C), (B). (D). (A)
(3) (D). (C). (E). (A). (B)

(4) (B). (C). (A). (E). (D)

Options :

53622815209. 1
53622815210. 2
53622815211. 3
53622815212. 4

Question Number : 128 Question Id : 5362283903 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) 9RA | F%F TS W Faem madi e

(B) WA TIEHW = TS HWiE e

(C)  =1fe® gaw sram 1 oo

(D) 7= ofae T i 5l SR 9 gEigd g =g Jigid $1 7

(E)  wgrw fann g afafa 6 fore

= fau o fawegt 9 5 w91 39 g

(1) (B (A). (E). (C). (D)
(2)  (E). (C). (B). (D). (A)
(3) (D), (C), (E). (A). (B)
(4 (B (C) (A). (E). (D)

Options :

53622815209. 1
53622815210. 2
53622815211. 3
53622815212. 4

Question Number : 129 Question Id : 5362283904 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the following articles of the Constitution of India with their provisions:

List I Last II
(A) Article 243 A () Power and Functions of the Gram
Sabha
(B) Article 243 B (I) Reservation of Panchavat seats for
Schedule Caste and Schedule Tribes
(C) Article 243 C (ITII) Three-tier Panchayati Raj System
(D) Article 243 D (IV) Composition of Panchayats

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(II), (C)-(I1I). (D)-(IV}
(2) (A)-(II). (B)-(I). (C)-(IV).(D)-(I1I)
(3) (A)-(IID). (B)-(IV), (C)-(II). (D)-(I)
(4) (A)-(I). (B)-(III). (C)-(IV), (D)-(II)

Options :

53622815213. 1

53622815214. 2

53622815215.3
53622815216. 4

Question Number : 129 Question Id : 5362283904 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A BiaaE % FefeiEa Fg=sel # 39 TEdE ¥ gated Fie

(A)
(B)

(C)
(D)

[ 'l%l__.-q'

(1)
(2)
(3)
(4)

Options :

=S 243 F

SeSe 243 @

T fawed 0§ wE I g6

(A)-@. (B)-(1D). (C)-(III). (D)-(IV)
(A)-(D). (B)-(D. (C)-(IV).(D)-(I1I)
(A)-ID). (B)-(IV). (C)-(IL). (D)-(D)
(A)-). (B)-(ID). (C)-(IV), (D)-(IL)

53622815213. 1

53622815
53622815
53622815

214.2
215.3
216.4

() ™ 9T % SAEaHE 0 e

(I) FgMET FiaaT T8 A9gET FAaaa F o
T 0 T2 AT

(IIT) T T=rdt 75 =9ae

Question Number : 130 Question Id : 5362283905 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange 1n chronological order in which the following programmes were initiated by the
Government of India:

(A) Backward Region Grand Fund Programme

(B) Pradhan Mantr1 Adarsh Gram Yojana

(C) Pradhan Mantri Gram Sadak Yojana

(D) Bharat Nirman Yojana

Choose the correct answer from the options given below :

(1) (B). (4). (C). (D)
(2) (A). (B), (D). (C)
(3) (D). (A). (B). (C)

(4 (0. D). A). (DB
Options :
53622815217. 1
53622815218.2
53622815219. 3
53622815220. 4

Question Number : 130 Question Id : 5362283905 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



@) oo e R FwEE
(B) TS e WH AT
(C)  THFEEET WH TEF A=

(D)  9rA FEW I

= fau o fawedt o @ wF 3w 9w

(1) (B). (&4). (C), (D)
(2) (A). (B), (D). (C)
(3) (D). (A). (B). (C)

(4) (C). (D), (A). (B)

Options :

53622815217. 1
53622815218. 2
53622815219. 3
53622815220. 4

Question Number : 131 Question Id : 5362283906 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following names of the Chairman

order

(A)
(B)
(C)
(D)

Dr. Vyjay Kelkar
Dr. C. Rangarajan
N.K. Singh

Y.V Reddy

. Finance Commission in the chronological

Choose the correct answer from the options given below :

(1)

(2)

(3)

(4)
Options :

(A). (B). (C). (D)
(B). (C). (D). (&)
(C). (D). (A). (B)
(B). (&), D). (O)

53622815221. 1
53622815222.2
53622815223.3
53622815224. 4

Question Number : 131 Question Id : 5362283906 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feret s % sreme =TT A F FEEEE ST i

(A) =1 T e

-

(B) =1 H. TR
(C) mA%. =

(D) = T

1 f5n T faegt 8 7 mE s g

(D (A ®B).(C). D)
2 (B).(C). (D). (A)
3 (0.D).A). B
(49 (B).(A). D). (O

Options :

53622815221. 1
53622815222. 2
53622815223.3
53622815224. 4

Question Number : 132 Question Id : 5362283907 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following documents related to Budget are mandated by the Fisecal
Responsibility and Budget Management Act?

(A) Macro- economic framework of the relevant year

(B) Fiscal Policy Statement for the financial yvear

(C) Medium term fiscal policy statement

(D)  Receipts Budget

Choose the correct answer from the options given below :

(1) (A), (B). (C)
(2) (A (B). D)
(3) (B). (C). (D)
(4) (D). (A). (C)

Options :

53622815225. 1
53622815226.2
53622815227.3
53622815228. 4

Question Number : 132 Question Id : 5362283907 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘i r -

92 § Haigd Fefaigd 9 @ FF H® SEEE UERNE IWEides i §Ee geyd AfaHEs g

(A) = 99 i gEY ANGH FIE
(C)  HEamEie® T A1 e

(D) " ==

+= f2m 7o fawedt 8 5 79 I 9

(1) Q). (®.(©)
2 (A). B). D)
(3) (B). (C). (D)
(4) (D). A, (©)

Options :

536228152251
53622815226.2
53622815227. 3
53622815228. 4

Question Number : 133 Question Id : 5362283908 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following stages in Public policy cycle 1n a sequential form:

(A) Formulation
(B) Implementation
(C) Agenda setting

(D)  Legitimization

Choose the correct answer from the options given below :

(1) (C). (D). (B). (A)
(2) (A). (C). (D). (B)
(3) (A). (C). (B). (D)

(4) (C). (A), (D). (B)

Options :

53622815229. 1
53622815230. 2
53622815231.3
53622815232. 4

Question Number : 133 Question Id : 5362283908 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) THHM
(B) TR

) r

(C) =g faim

(D) :_ru;mqﬁw =
Hr= f2u o faeReal § @ TR e g

(1) (©). (D). (B). (A)
(2) (A). (C). (D). (B)
(3) (A). (C). (B). (D)
(4) (C). (A), (D). (B)

Options :

53622815229. 1
53622815230. 2
53622815231. 3
53622815232. 4

Question Number : 134 Question Id : 5362283909 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of data processing 1n their sequential order

(A) Classification of data
(B) Coding of data
(C) Editing of data

(D) Tabulation of data

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D)
(2) (B). (C). (D). (A)
(3) (C). (B). (A). (D)

(4) (C). (D). (A). (B)

Options :

53622815233. 1
53622815234. 2
53622815235.3
53622815236. 4

Question Number : 134 Question Id : 5362283909 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



r

(A) HTHST T
(B)  ATHST Fe Tehed
(C)  =ATRsT J9EA

(D) ATFST BRI

= f2u o faepedt 0 @ wE T g

(1) (A). (B). (C), (D)
(2) (B). (C). (D). (A)
(3) (C). (B), (A). (D)

(4) (C). (D). (A). (B)

Options :

53622815233. 1
53622815234.2
53622815235.3
53622815236. 4

Question Number : 135 Question Id : 5362283910 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of the research process in a sequential order:

(A) Preparing the research design

(B) Reviewing concepts and theories
(C) Determining sample design

(D) Generalizing and interpreting data

(E) Hypothesis testing

Choose the correct answer from the options given below :

(1) (A, B). (©). (D). (E)
(2) (B). (A). (C). (D). (E)
(3) (B). (A). (C). (E). (D)

(4) (A). (B). (C). (E). (D)

Options :

53622815237. 1
53622815238. 2
53622815239.3
53622815240. 4

Question Number : 135 Question Id : 5362283910 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) MY AT S

(B)  Eamonst 3w fagrat & adie
(C)  Ti=s AfgweT Hamm

(D)  ATHE] F1 AT AR e
(E)  wmeseaT oiam

(1) (A). (B). (C), (D). (E)
(2) (B). (A). (C). (D). (E)
(3) (B). (A). (C). (E). (D)

(4) (A). (B). (C), (E). (D)

Options :

53622815237. 1
53622815238. 2
53622815239. 3
53622815240. 4

Question Number : 136 Question Id : 5362283911 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two Statements : One 1s labelled as Assertion A and the other is labelled as
Reason R

Assertion (A) : If complex organizational system must operate In a constantly changing
environment, they must modify their structures at a corresponding pace.

Reazon (R) : The difficulties organisational system face is that they are often outpaced

by new orgamizational system that do not carry the same burden of
outmoded knowledge and habit.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1= not correct
(4) (A) 15 not correct but (R) 1= correct
Options :
53622815241. 1
53622815242. 2

53622815243.3
53622815244. 4

Question Number : 136 Question Id : 5362283911 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S 31 F9F 5w T B| TE w0 AtawYE (A) AR g w T (R) AR

ATaF (A) Iz FZe AFEEHE STEENAT T HAd UREdeE T 4w A 2, A9 3 A0

T=ATAT ] A5 T W A AT &6

AT, I N9 D13 Zdl 7 s TH J19 @ F9E 31 97 959 T8 FE 51 7

SUN HUAT o ATATE H T e § | gl S0 I g

(1)  (A) 35T (R) 341 T&1 3 210 (R). (A) F1 571 =m0 2|

(2)  (A) 3R R) IA #E E T (R), (A) T =H = w6 2

(3) (AT 2, T R) TE A 2

4) (A EA A 2, v R) TE 2



Options :

53622815241. 1
53622815242. 2
53622815243. 3
53622815244. 4

Question Number : 137 Question Id : 5362283912 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two Statements :

Statement I: The Governor exercises his discretionery power in selecting a Chief Minister

1n a situation when a Chief minister dies with no obvious successor.

Statement II: The Governor also uses his discretionery powers while performing

responsibilities as an administrator of adjoining union territories.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I 1s incorrect but Statement I 1s true

Options :

53622815245. 1
53622815246. 2
53622815247.3
53622815248. 4

Question Number : 137 Question Id : 5362283912 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hi= a1 e 2w o F

F (D) 1 TN AT AR T 39T 36 4G 4w 2 W R gemes w fae = oS wg

FoA (1) : A0 A9 EERIaEE F I9AA 759 F U0y Fg WEd W49 § UF e ok &9 9

A = F [ w5 % o o A 2

SUFTH FYAT % ATAF H R e 4 9 wE I A

(1) =9 (I) A1 (10 341 =71 =
(2) == (I) 7 (1D =41 T4 7
(3)  wuA (I) ueA 2, T w9 (ID) 7T 2

(4) A (1) 753 7, g = (1) =41 2

Options :

53622815245. 1
53622815246. 2
53622815247. 3
53622815248. 4

Question Number : 138 Question Id : 5362283913 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two Statements : One is labelled as Assertion A and the other is labelled as
Reason R

Assertion (A): Sunset Budget 1s structured to ‘self-destruet’ within a given pre-set
duration to make certain that expenditure is stopped by an already fixed
date.

Reason (R) : It assists in making the financial resources available for new programmes.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true



Options :

53622815249. 1
53622815250. 2
53622815251. 3
53622815252. 4

Question Number : 138 Question Id : 5362283913 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hr= 21 FuA fam T B v AgEEE (A) I T (R) A TR

AT (A) HEE T2 I TEAl 3E TEE H w7 9w v gE-Taiia satg F fie w=1-

% (R) : qE AU FEFH F 60 a9 SO 30y F4E 0 TEEE 26 2
ST FYAT W AR J A [aweT § H Aaiias 08 I 9

(1)  (A) #HiT (R) =AT F7 7 # (R), (A) =i a1 =3 2|

(2  (A) 3R R) 2 T E = (R). (A) FTFE = T 2
(3) (AT R, T R) TE A 2

(4) (A) T8 T#1 7, W (R) T4 2

Options :

53622815249. 1
53622815250. 2
53622815251. 3
53622815252. 4

Question Number : 139 Question Id : 5362283914 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two Statements : One 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion (A) :  Public Policy Analysis 1s an effort to develop and test general propositions
about the causes and consequences of public policy and to accumulate
reliable research findings of general relevance.

Reason (R) : The object 13 to develop general theories about public policy that are
reliable and that apply to different government agencies and different
policy areas. policy analysis clearly prefer to develop explanations that fit
more than one policy decision or case-study explanations that stand up
over time a variety of settings.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) correct but (R) 18 NOT the correct explanation of (A)

(3 {A) 1s correct but (R) 1s not correct
(4) (A) 18 not correct but (R) 1s correct
Options :

53622815253. 1
53622815254.2
53622815255.3
53622815256. 4

Question Number : 139 Question Id : 5362283914 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 21 FyF {E 0 B U i AYEEE (A) 37 g F A (R) FA G

HATHTFIA (A)

AF AT % FEO ST OROTET F HEg § e S i S o 59 et 5=
FAA] J[riﬂ'ﬁ%|

ATF HAH ® @99 H HE EEd i e S v An S M a9
fafe fifq &= o @ A, i [Gve T E9 9 v = 9 F w TE
AT £ T UF ° A, Jig Hvm @ v e W aw s e e 2 A
afifeaia 9 = 21

ITEF FUA F SAAF A i Fwe § ¥ waiyE I I 9

(1)  (A) 37 (R) 21 T8 £ =717 (R). (A) Fif 781 == 2

(2)  (A) 3T (R) I TE F W (R).{A}?ﬁlmﬁmﬂﬁ%

() (@) ?, T R®) 7 A 2

(4) (A = 7 2, W (R) 95 2

Options :

53622815253 1
53622815254.2
53622815255. 3
53622815256. 4

Question Number : 140 Question Id : 5362283915 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two Statements : One is labelled as Assertion A and the other i labelled as

Reazon R

Assertion (A): Governance is not simply about elected representatives making wvalues.
policy and tool choices for implementation

Reason (R) : Governance also involves practices and processes for people to participate

in the work of the government.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are corrrect and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 12 not correct
(4) {A) 1= not correct but (R) 1s correct.
Options :

53622815257. 1
53622815258. 2
53622815259.3
53622815260. 4

Question Number : 140 Question Id : 5362283915 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A= 31 o faw T | v Foafewem (A) 3R I F aF (R) FA TR

WTEA T8 R
% (R) : ST § HEET % T § A =Rl ATiiEnl i agle #i ufwer | aftafed 2

r e ™ o o [ 2 s, it [ s
T FYF & ATAE H HEAwG [Gwedl § H Faiusd S I 9

(1)  (A) 3 (R) =1 T3 2 3117 (R). (A) Fi 731 == 2
(2) (A # (R) ZA =H F T (R), (A) = e 6
(3) (AT 7, W (R) 781 77 2

Options :

53622815257. 1
53622815258. 2
53622815259. 3
53622815260. 4

Sub-Section Number : 2
Sub-Section Id : 536228153
Question Shuffling Allowed : Yes

Question Id : 5362283916 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)

Question Label : Comprehension



At the outset, 1t 1s important to be clear that ‘governance’and ‘public governance’ are not new
terms and they come with prior theoretical and / or ideclogical baggage. The New Public
Governance 1= rooted firmly within organizational sociology and network theory and
acknowledges the increasingly fragmented and uncertain nature of public management in
the twenty-first century. It draws much from networks and from organizational social
capital hiterature within organizational strategy. It has the potential to draw from the
relational marketing literature. It posits both a plural state. where multiple inter-dependent
actors deliver public services and a pluralist state, where multiple proceses inform the policy
making system. The two forms of plurality focus on Inter-organisational relationships and
the governance of processes, and it stresses service effectiveness outcomes. It lays emphasis
on the design and evaluation of enduring inter-organisational relationships. where
trust.relational capital and relational contracts act as the core governance mechanisms.

The New Public Governance has the potential to provide a framework to generate new
Public Administration and Management theory and to support the analysis and evaluation
of public policy evolution. The New Public Governance paradigm has inherent strength for
the study and practice of Public Administration and Management. It combines the strengths
of Public Administration and New Public Management by recognizing the legitimacy and
inter-relatedness of both the pohey making and the implementation/service delhivery
processes. It provides a coherent conceptual framework from which to develop theory and
research that can inform the practice of Public Admimistration and Management in the
twenty-first century.

Answer questions 91-95 from the above paragraph.

Sub questions

Question Number : 141 Question Id : 5362283917 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The roots of New Public Governance 1s in
(1) New Public Management
(2) Organisatonal Sociology and Network Theory
(3) Public Administration and Management
(4) Plural State
Options :
53622815261. 1
53622815262. 2

53622815263.3
53622815264. 4

Question Number : 142 Question Id : 5362283918 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The concern of ‘relational orgamsation’ 1s

(1) Social capital

(2) Relational marketing
(3) Focus on output and intra-organisation
(4) Relational contracts

Options :

53622815265. 1
53622815266. 2
53622815267. 3
53622815268. 4

Question Number : 143 Question Id : 5362283919 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A 'Plural’ and a Pluralist’ state will deal with

(1) Multiple actors in delivery of services and information coming from multiple
processes to policy making

(2) Design and evaluation of inter-organisational relationship
(3) Design of Public Administration and Management (PAM)
(4) Legitmacy of plural world

Options :

53622815269. 1

53622815270. 2

53622815271. 3
53622815272. 4

Question Number : 144 Question Id : 5362283920 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

New Public Governance has potential to

(1) Create a pluralist state

(2) Create an environment for theory development

(3) Combine the strength of Public Admimistration and New Public Management

(4) Focus on different streams of management theory

Options :

53622815273. 1
53622815274. 2
53622815275.3
53622815276. 4



Question Number : 145 Question Id : 5362283921 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The core of the governance in the two forms of plurality are

(1) Public policy making and evaluation

(2) To design and evaluate inter-organisational relationship based on trust. relational

capital and contracts
(3) Developing organisational strategy and effectiveness

(4) Evaluation and critique of Public Admimstration and New Public Management

Options :

53622815277. 1
53622815278. 2
53622815279. 3
53622815280. 4

Question Id : 5362283916 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

& d A qE TE HE HEeayl TR WmEA SN SR AE AU WS A6 RSN A wse g Agitem
WY1 3R FANF AH F HY AW 7| AHH A WEA Zed H SIS, Sl A s Heh |
Ffed 7= 2 w1 21 o wEt ¥ wisd 7l 1 W F qey F SAHTEd THa F HEE w0 2| JSHE oOE
T % AT AR Aedd AR WISATHS TS o Aiad ¥ 9Ed B9 WH HT @ 997 3HY gedTT
fauoe ATfeeT o W9 A W A 2| 98, SEedidl Ta-TAEd dAai- A4 Fl A G Wed #d & a0
T AR - Taed ot i i frator gt f SeEr 39 2, # 5EiEd S | SEeaeE &
A T FE Al 2

= = SEA | T A YO S TeeE g i S ue el #Ai @ i gear # fEve
AR AF § HedT T G997 0 AN I & Goardd F1 GHaT 2| 46 @ AEE F aEE § A
TOTES AT TS 0 A F a9 SHEEn F gAvad F9 F ame [ 2 9w 9 weeE A1 966
T TEEA F A w1 HEE F A9 T & A FEi a9y S ma9 1 T e -
AR Iy TIHET = 7 T sHEEdl Tal § =06 TIEA A7 T8EE % SR H giEd 5 99 2

Sub questions

Question Number : 141 Question Id : 5362283917 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TA I T A A

V) (2) I WA S Fze g
(3) == WImEd HR gEyA | (@) wEeEE T

Options :

53622815261. 1
53622815262. 2
53622815263. 3
53622815264. 4

Question Number : 142 Question Id : 5362283918 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HEYTTHF 739 % OOFT Heianad © o

(1)  =mEaF =i (9) TEUTH THuuE
(3) W 3 AT -Te W (4) HIGEHF HiaE

Options :

53622815265. 1
53622815266. 2
53622815267. 3
53622815268. 4

Question Number : 143 Question Id : 5362283919 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S5 FN FEeAdEE T F T F

(1)  TF7 92H 0 & sEe Fat a9 ifq Foi £ wge aEware o s g
(2) A -TTAATHF Tad] & TEY 3T HAEE
(3) = WIEA A vEe ® wEg (ff u ug)

(4)  =me fava Fi Jariwa
Options :
53622815269. 1
53622815270. 2
53622815271.3
53622815272. 4

Question Number : 144 Question Id : 5362283920 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A A T § TmeA ?

(1)  FEoEmEl T4 & T4
(3) AT WENHA S0 A WA TG  well h ATH F A
(4)  wEeA FEagE i EE e 9o S

Options :

53622815273. 1

53622815274. 2

53622815275.3
53622815276. 4

Question Number : 145 Question Id : 5362283921 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT % 3 TE ° e % gl STER 3

(1) A AiTg e 9T e

(2)  Tavamm, FeuTes T AN WSt WA S-S SeaE, Bl o WY HT AR

(8)  HISAHF ZJF THAI 3N IAH] SHIEA

(4) = TIEA AR TEE S TEET B ARG AN IEH AT

Options :

53622815277. 1
53622815278. 2
53622815279. 3
53622815280. 4

Sub-Section Number : 3
Sub-Section Id : 536228154
Question Shuffling Allowed : Yes

Question Id : 5362283922 Question Type : COMPREHENSION Sub Question Shuffling Allowed

Comprehension Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension

: Yes Group



For an effective and responsive administration in India there was an umperative need for
governments at all levels to reinvent themselves and redifine their roles and responsibilities
and bring about reforms in all areas which have an interface with people. The public image
of bureaucracy was one of inaccessibility, indifference, procedure-orientation. poor gquality
and sluggishness, susceptibility to corruption and non-accountability. The need of the hour
was therefore ‘to assure people of India of an efficient, open. responsible, accountable. clean
and dynamically adjusting administration at all levels’. Governance has to extend beyond
conventional bureaucracies to actively involve citizens and consumer groups at all levels, to
empower and inform the public and disadvantaged groups and to ensure service and
programme execution through autonomous local bodies.

Thus, the three aspects for reforms were (1) crisis in admimstration which was not people
sensitive or citizen-friendly and hence the need to bring about reform: (1) the need for a
change in the mindset so that goverming could be conceived afresh as ‘governance’ and
(111) transforming the administration through accountability-fostering measures.

Thus reform 1s nothing but an enlargement of opportunities for people in education. health,
employvment and general well-being.

Answer questions 96-100 from the above paragraph.
Sub questions

Question Number : 146 Question Id : 5362283923 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The need for governments at all levels to reinvent themselves and redefine their roles was
due to

(1) remove interface with people
(2) strengthen conventional bureaucracy
(3) create effective and responsive administration
(4) Focus on procedure-orientation
Options :

53622815281. 1
53622815282. 2
53622815283.3
53622815284. 4

Question Number : 147 Question Id : 5362283924 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The public image of bureaucracy was one of
(1) Accessibility (2) Effective and efficient
(3) Corrupt and non-accountable (4) People-sensitive

Options :



53622815285. 1
53622815286. 2
53622815287.3
53622815288. 4

Question Number : 148 Question Id : 5362283925 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Involvement of citizens in administration leads to

(1) empowerment and information to the public and disadvantaged groups
(2) poor quality and sluggishness
(3) static administration
(4) poor accessibility
Options :
53622815289. 1
53622815290. 2

53622815291.3
53622815292. 4

Question Number : 149 Question Id : 5362283926 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s an agenda for reform?

(1) To restore people’s confidence

(2) To make government formal

(3) To publicise the 1image of public bureaucracy

(4) To bring about accountability-fostering measures
Options :

53622815293. 1
53622815294. 2
53622815295.3
53622815296. 4

Question Number : 150 Question Id : 5362283927 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Opportunities for people in education, health, employment and general well-being can be
created if

(1) Administration becomes people unfriendly

(2) Promotion of transparency and openness 1s not effected in administration

(3) Administrative reforms make government efficient and governing can be conceived as
‘governance’

(4) Service and programme are centralized

Options :

53622815297. 1
53622815298. 2
53622815299. 3
53622815300. 4

Question Id : 5362283922 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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o AT TAMAT AW A T ATTIEAT o, (1) ARG § a1 aravashar off 91 wEE e A0
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Sub questions

Question Number : 146 Question Id : 5362283923 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1)  =9a1 % =9 AFT-EEE 29§ B2 A 99
(2)  HR HEETE F HEe ST S 6
(3) THTEER] SR TTAEEE] TIEA = = 6 A T

(4)  OfEE-IHE R W HHEa A S
Options :
53622815281. 1
53622815282.2
53622815283. 3
53622815284. 4

Question Number : 147 Question Id : 5362283924 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AFRTETE h1 WTESE S g 5 9 R T o7

(L T (2) TuE 3 FE

el

(3) W 3R T-EEeE (4) = Had

Options :

53622815285. 1
53622815286. 2
53622815287. 3
53622815288. 4

Question Number : 148 Question Id : 5362283925 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e 3 AR B e A A w g

(1) ST 31T Ared GHE 1 R ST g

(2) T AT S g
(3) M= T9TEA
(4) AT

Options :

53622815289. 1
53622815290. 2
53622815291. 3
53622815292. 4

Question Number : 149 Question Id : 5362283926 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Fratefioa o 9 %= o v gun fi w27

(1)  =Aa1 =1 GvamE i w0
(2)  HEE I AEIE S
(4)  FAESE WRATE HA T S

Options :

53622815293. 1
53622815294.2
53622815295. 3
53622815296. 4

Question Number : 150 Question Id : 5362283927 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foreaT, T, TSR 9 W FOAT F S O ST o (o0 SEE 5 g9 7 Tl ¢ A

(1)  wamed 59a1 & Siaga & 7

(3)  TENEITE HUW HORR i FA S 2 AR U CHAGOE o =Y Feq A w

(4)  HET 3T FEFA T Fea 00 7 A

Options :

53622815297. 1
53622815298. 2
53622815299. 3
53622815300. 4



